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CHILD DEVELOPMENT AND PEDAGOGY / a1 fsTa 7 RI&Te TSt

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options,
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i A teacher notices that one of her students is highly distractible and has trouble paying attention
during class. Which of the following strategies would is an effective strategy in helping the student
stay focused ?

(1) Strictly telling the student to increase their attention span.
(2)  Giving a timer to student for self-regulation and time-management.
(3) Calling the parents and taking strict disciplinary action against the student.
(4)  Giving the student repeated tasks to do during class.
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2.

Jean Piaget believed that knowledge is :

(1) innate and given rather than acquired through interactions.

(2)  co-constructed in interactions with more knowledgeable others.
(3) a visible behavioural change that can be measured with reliability.

(4) constructed by the child rather than being passed passively
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3. According toJean Piaget the ability to use symbols for symbols such as letting the letter X stand for
an mknown numers! develaps during and enables the children to learn ;
(1) concrete operational stage; conservation and seriation
(2) formal operational stage; algebra al_igca]culus
(3) formal operational stage; conservahon and seriation

(4) concrete operational stage; algebr;and calculus
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4.  Assertion (A) :

Learning from real-life problems and conere(e experiences gives the children multiple pathways
for learning and retrieving information. -

Reason (R) : ; ,__

Development is relatively orderly and seaﬁ:egitial.

Choose the correct option : ~;

(1) Both (A) and (R) are true but (R) is’ nDt the correct explanation of (A).

(2)  (A) is true but (R) is false. ,

(3) Both (A) and (R) are false. _

(4) Both (A) and (R) are true and (R) is is the correct explanation of (A).
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Which of the following best descnb&; the role of the teacher in progressive education ?

(1) The teacher provides diverse ﬂﬁtenals for children to experiment and provides scatfolding
as and when required. =~

(2) The teacher is responsible for é_sunng strict adherence to curriculum standards.

(3) The teacher lets the children 16;1;1 independently and does not interfere in their learning.
(4)  The teacher is the primary sou;cgof knowledge and authority in the classroom.
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(@) Itis a linear process. 2 (b) It is a complex process.

(c) Itis a multidimensional process“ (d) It takes place uniquely in different cultures.
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Which of the following does not exemplify an inclusive dlassroom ?
(1) Following reasonable accoﬂmmdhmn
(2) Offering differentiated mstrucﬁm

(3) Encouraging competitive ethos_

(4) Incorporation of diverse PerSPEEhves
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8. Assertion (A) :

There is no Ob]E‘Cl‘lVOly definable leﬂeﬂt when a child enters middle childhood or adolescence.
Reason (R) : -~

Development is continuous in natur

Choose the correct option.
(1) Both (A) and (R) are true byt (:'-
(2) (A) is true but (R) is false
(3) Both (A) and (R) are false £

(4) Both (A) and (R) are true and {R)s the correct explanation of (A).
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not the correct explanation of (A).
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9. In which stage of Kohlberg’s moral ﬁopment do children’s reasoning revolve around ethics of

law ? S

(1) Conventional morality _::[2) Heteronomous morality

(3)  Autonomous morality (4)  Pre-conventional morality
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10. According to Vygotsky, what is the rﬁfﬂof the teacher in facilitating cognitive development ?

(1) To guide and support the studf:nlis learning through scaffolding.

(2)  To allow the student to learn completely independently. P

B) To give only those tasks that t_her-student can currently do independently. r
4 To provide information and knowfedge to the student.
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12.
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Assertion (A) :
Teachers should constantly reflect on their own stereotypes and bias.
Reason (R) :

Culturally feéSponsive teaching means that teac_:hérs are reflective.

Choose the correct option : E__":

(1)  Both (A) and (R) are true but (R) is not_:tﬁ.':correct explanation of (A).
(2)  (A) is true but (R) is false. :
(3)  Both (A) and (R) are false. 7 T3

(4) Both (A) and (R) are true and (R) is the j:a;:rect explanation of (A).
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Which of the following statements about adole __Ence is not correct ?
(1)  Adolescence is generally considered to bégm with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(2)  Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes,

(3)  Children across different cultures usher in and experience adolescence in a similar manner.
(4) Adolescence is a social construchon
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13. The central

14,

iy e e i e g

q argument of Carol Gilligan’s critique of Kohlberg's theory of moral development is
around :

(1) Overestimation of children’s moral abilities.
(2) Use of experimental design in studying children.

(3) Educational implications of the study for school going children.
(4) Ethics of care and the feminist perspective.
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Assertion (A) :

Students are more likely to do well and stay in school if they have emotional attachment to their
school and believe that they matter.

Reason (R) :

Emotions play a significant role in learning.

Choose the correct option :

(1)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
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15.  Which of the following is a core principle of constructivist learning theory ?
(1)
(2)
(3)
(4) Teachers should provide direct instruction and explicit guidance to students.
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Learning occurs when students receive correct answers and feedback from teachers.
Students construct their own knowledge through active engagement with their environment

Learning is primarily a passive process that involves receiving and memorizing information

16. Sujata participates eagerly in the dance competition only because she is interested in winning the
first prize of cash. Sujata is :
(1) Extrinsically motivated (2) Mastery-Oriented learner
(3) Failure-avoiding learner (4) Intrinsically motivated
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17. A middle school teacher wants to enable me

aningful learning by helping students make connections
between concepts and real-world applications. Which of the following activities would be an
appropriate pedagogical strategy ?

(1)  Let the students complete worksheets with multiple choice questions.

(2) Let the students learn by the method of stimulus-response conditioning.

(3) Let the students research on a current issue in small groups and present their findings to the
class.

(4) Let the students memorize terms and definitions.
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18.

19.

20.

ork in progress Portfoli : ;
" hp -g 1 ©S are an effective tool for formative assessment because :
(a) They involve students in the process of assessment.

(b) They offer nsights about the progress of individual students.

(c) They focus mainly in the Presentation of the final product.

(d) They offer tangible evidence of student learning.
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In order to address the individual differences among learners, a teacher should :
(1)  be indifferent towards individual differences

(2) consider differences as obvious feature of human diversity

(3) implement a rigid and uniform curriculum for all learners

(4) acknowledge differences as abnormal and kind of deficit
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According to Lev-Vygotsky children benefit from the experience of interacting with
while working their zone of proximal,development.

(1) more knowledgeable others; just outside

(2) the physical environment; within

(3) the physical environment; just outside

(4) more knowledgeable others; within
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21.  Alok shows the following behaviours : Holds head in an awkward position when reading; squintin

and rubbing the eye frequently; redness/swelling of eyes; confusing letters. These can be symptoms
of potential - ’
(1) Language comprehension problems

(2)  Autistic spectrum disorder

(3)  Communication disorder

(4)  Visual problems - . )
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Asking Critical questions such as “how much and in what ways are various gender represented in

textbooks and media” would encourage : A

(1) Strengthening gender constancy
(2)  Reinforcing gender identity

(3)  Discouraging gender role flexibility
(4)  Questioning gender stereotypes
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23. Ina progressive classroom assessment is :
(I) Objective

22.

(2) Summative .
(3) Normative (4) Dynamic .
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24.  Which of the following is an example of a question that requires students to
(1) What is the theme of the novel “To Kijll a Mockingbird”?
(2)  How does the author use symbolism in “To Kill a Mockingbird”?
(3)  Who is the protagonist of “To Kill a Mockingbird”?
(4) What is the plot of the novel “To Kill a Mockingbird” ?

analyze information ?
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26.

27,
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Assertion (A) :

The less able a child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help less and less.

Reason (R) :

Intelligence cannot be accurately measured by calculating 1Q.
Choose the correct option.

(1) Both (A) and (R) are true but (R) is ﬁot the correct explanation of (A).
(2) (A)is true but (R) is false, ,

(3) Both (A) and (R) are false. O

(4) Both (A) and (R) are true and (R) is. &ecorrect explanation of (A).

e (A)
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Which of the following describes a master;y goal orientation ?
(1) focus on improving ones’ skills and 1mderstanding of a task.

(2) focus on achieving a high grade forfecewmg external rewards.
(3) focus on avoiding failure or pu.mshm?ﬁ”t for fear of humiliation.

(4) focus on achieving a certain level of-petformance for competing with others.
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Which of the following process is esse“h"ﬂ 2‘ meaning-making of the information received from
environment and store it further in memorY

(1) Decay . {2) Forgettifig. * #(3) Retrieval (4) Attention
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29.
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Assertion (A . ‘ . S
In an 'mcluiiv)e classroom, adaptations should be made in learning goals, pedagogical strategies as

well as assessment.
Reason (R) :

The Philosophy of inclusion advocates elimination of allindividual differences through pedagogicy]
approaches and assessment. =—i=

Choose the correct option : ___; ‘ —

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false. Ld

(3) Both (A) and (R) are false. Bt .

(4)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) : '

& fasheq 9%
(1) (A)W(R)ﬁﬂﬁ%éﬁﬂ(maﬁ(k)uﬁwqﬁm%u
(2)  (A) 98 ? Afa (R) Tom
() (A) 3R (R) 3 717 £

) (A)aﬁ(R)ﬁﬂﬁ%aﬁI(A)ﬁ(R)ﬂﬁW@@m%l

1
I
W,

Dyslexia is a er's ability to

condition which impacts
(1) neurological, link sounds with symbols ______:'T__
(2)  physiological, socialize with peers L
(3) sensory, coordinate body movements p—
(4) emotional, draw pictures -
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30. Anelementary school teacher can strongly influence students development of academic self-concept
by : £f
(])3 Punishing autonomy and initiative jn, studengs —
(2)  Rewarding autonomy and initiative in students:
(3) Keeping very low expectations from special stadents
(4) Keeping very low expectations from a|] smde__-_r_'l‘_l‘E;
T WP Tqeera 1 R o1 % farfor, AR "q-i?;ﬁrf‘“ﬁmﬁmﬁawm%:
(1) BHEl 4 @WEad 3R Yeel F) <feq g - = .
@ BEl H WETAER 98 F [T S —
3) ﬁﬁqﬁﬂa@wmm‘b S
(4) [t faenfdai Q@ sga &n & @
12 N
P-11 (NENNINEENE

| sommesmessmmene e ——
e



e

—

IMPORTANT / Tevaqol
Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - HI (Social Studies / Social Science).
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foar7) @ & & bors

PART - Il / W< 11
MATHEMATICS AND SCIENCE / 0w 3 fasm
Direction : Answer the following questions by wlectiing L et IEEM e becarili
i - Pttt 3 3 St 33 % forg. et v Fied 9T ppropri
31. The area of the curved surface of a right circular cyﬁ@er is 4400 cm? and the circumference of its

base is 110 cm. Its volume (in m3) is : (Use 1r=%} -

(1) 0.0385 (2) 0.0285 3) 0.0382 (4) 0.0284

fardlt el geia S 1 95 YO A% 4400 cm? ¥ 3R 36% MR & IR 110 cm B SOE W
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(1) 0.0385 2) 0.0285 ®3) :@382 4) 0.0284

32.  Which among the following Learning-Teaching Res;ﬁf;es (LTRs) are most appropriate for visually

challenged students in mathematics classroom ? -~
(a) Geogebra (b) Taylor's abacus :(g)i Computer (d) Spreadsheet

Choose the correct option : £
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33. BD is the diagonal of parallelogram ABCD such that ZCBD=12x, ZABD =7y, ZADB=¢(¢ , ang
<CDB =28, Then, the value of 2x+3y is:
1) 210 (2) 220 (3 23° (4) 20°
%8t Tl =gsist ABCD 1 fasel BD <9 T % f £CBD=12x, ZABD=7y, ZADB=6(° 3
<CDB=28"%| wo 2x+3ym M & : s
(1) 21° () 22° 3y -:’23° 4) 20°
_ _ -1
34. If i - (:31) 3 N (%]‘4‘ then what is the valm_lo_f [-;— + -i—r} ?
2 38 48 _3 l
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afai_[ )‘ [)4%,'&1( ﬂ] SRS |
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19 38 48 _3
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35. A student listed the following properties of Ra;tlonal Numbers. Which one/ones is/are correct ?
(@) A rational number includes integers. .
(b) 0 (zero) is not a rational number. B 3
(c) Al fractions are rational numbers, _;-"—":—
Choose the correct option : - ==
(1)  Only (b) (2) Only (o) (3J (a) and (b) 4)  (a) and ()
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If the median of the data 30, 8, 7, 3,17, 15, 21, 24, 29, 23 is x and the median of the data obtained

36. .
by replacing 3 by 33 and 8 by 18 in the above data is y, then what is the difference between
y and x?
M 2 (2) 3 (3) 4 (4) 1
o 3 30,8, 7, 3,17, 15, 21, 24, 29, 23 1 TTF x & 3 ¢ FAFS F 3 F1 33 W 7 gF 18 @
S T T A SHE 1 s A g, @y 3 H AR FE?
1 2 (2) 3 () 4 4 1
37. In triangle PQR, ZP=55° and QR=18 cm. In which of the following cases, APQR can be an
obtuse scalene triangle ?
(1) £R=15°and PR > 18 cm (2) ZR=65°and PQ > 18 cm
(3) £R=35°and PR=18 cm (4) £R=25°and PQ=18 cm
f%¥ PQR H, 2P =55° 3R QR =18 cm ¥ = fearfereli & @ fererdt APQR T 3iferah sivr faeweg s
A FHA T ?
(1) ZR=15° 3 PR > 18 cm (2) £ZR=65° 3R PQ > 18 cm
(3) ZR=35° 3R PR=18 cm (4) £R=25° 3R PQ=18 cm
38. In triangles ABC and DEF; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, ZF=40° and ZE=90". Then,
which of the following statements is true ?
(1) AABC = AFED, by RHS (2) AABC = ADFE, by AAS
(3) AABC = AFED, by AAS (4) AABC = ADEF, by RHS
fii ABC @it DEF #; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, £F=40° 3R ZE=90° % &, 7=
FYA § Y - FYHA TA R ?
(1) AABC = AFED, RHS 51 (2) AABC = ADFE, AAS g
(3) AABC = AFED, AAS &N (4) AABC = ADEF, RHS g/
SPACE FOR ROUGH WORK / & & % fota wig
P-11 |
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39.

National Equcation Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to

used in classroom teaching. Which among the following are correct in the context of HSINg Sports

integrated pedagogy in mathematics classroom ?

(@) TEaChing—learning process shall become joyful.

(®)  Itis not possible to use sports for teaching mathematics.
() It will be time consuming and hence needs to be avoided.
(d) Apart from po

pular sports, there are many indigenous sports which can be used in teaching
mathematics.

Choose the correct option :

) ®and@ @ @and@ @) O)(and@d) @) (@) and ()

T foren i, 2020 fawifer et @ 6 O whiga famemes #1 wa § s w1 51 SATETIFAT )
@E@%ﬁm#mﬁﬁvﬁmﬁw%mﬁnﬁﬁgﬁﬁﬁﬁqmww%?

L2y Tveor-siferm wfwen e @ o

(b) WA FT ST o T A T T

() wﬁa@wmﬁrmﬁzﬁmml
) m@ﬁf%mﬁm&sﬁaﬁ%mmnﬁmmﬁmmm%l
T fawea 97 -

1) ®) 3R () /af (a) 3Rk (q) B © @I @ (@ sk

40. The product of two rational numbers is —%q . If one of the two numbers is — —;’_ , then the reciprocal
of the other number lies between :
9 1 1. 1 1 1 3
1) 35 and 3 (2) 3 and | (3) 4 and 7 @ 55 and e
. 0 ; g ;
<1 Uiy des & OEEE —% Tl e 37 & gt ¥ Q4 uw —% %ﬁﬁ@ﬂ@@nwwﬁﬂ*
= H fea
9 1 1 1 1 1 3 9
1) 55 g @ 3R @) 3 @) 55 =
SPACE FOR ROUGH WORK / T% &8 & feTg sme
N
16
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numb i . . :
¢ rtrhlrlzeeenumb:rrss ?Elre M the ratio 2 3 :4 and the sum of their cubes is 33957. What is the sum of the
(1) '63 . 2 72 3) 81 (4) 54
T S 2334 3 ST 3 & s 5w i 33057 4197 il w1 e e 22
(1) 63 2 72 3) 81 (4) 54
42. Ifx=1.011+10.11-12.101 +0.1011, then what should be added to x to get the sum as 1.1 ?
(1) 023111 (2 o0.2211 3) 1.1311 (4) 1.9789
< x=1.011+10.11-12.101 +0.1011 &, & » § 7 <irey Ty, e TPt 1.1 W1 A2
1) 03111 ) 0.2211 3) 1.1311 (4) 1.9789
43. If A= —-2x2+412x, B=11-8x+3%2 C=17—442 and D=22~x-3, then what is the sum of the
co-efficients of x2 and x in (A +B +C-D)?
1 -1 2 1 B) 3 4 o0
A A= -2 4121, B=11-8x+3x2, C=17-422 3K D=12—x—3 § @ (A+B+C-D) ¥ 223K x
%ﬂ“ﬂﬁﬁmﬂﬂ%:
1 -1 @ 1 @) 3 4) 0
4. Ifa8-digitnumber9471x9 y 2 is divisible by 72, then which of the following statements is not
true ?
(1) x=4andy=9 (2) x=9andy=5 (3) x=3and y=1 (4) x=8and y=5
e 8 - SR AR 947129y 2, 728 T &, 1 Froat H | B oo e v 2
(1) x=43R y=9 (2) x=9 3ﬂ'(y=5 (3) x=33WR y=1 (4) =x=8 3R y=5
45.  The number of vertices (V), edges (E) a{ld faces (F) of a polyhedron are respectively 10, 15 and x.
Then, the value of (3x—12) is :
1 o9 (2) 14 3 18 @) 7
Ferft ageherent 3 ¥l (v), TR (E) o erl (F) it Hemd suw: 10, 15 3% « #1 79 (32— 12) F1 7
2
M 9 2) 14 (3) 18 4) 7
B e ,
SPACE FOR ROUGH WORK / 1% &4 & foq wmig
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46. A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height
are re i base = length X breadth). What will be the cost |
> Tespectively 1.48 m, 1.16 m and 83 cm ( 8 of |
painting its inner surface at ¥ 150 per m? ? |
T 839.10 (2) % 841.40 (3) T 84250 (4) ¥ 83820 |
TR W YA §3M TH &1 3 cm HIA THS H 9491 &1 THHT A S, ASE A SHAE Fwyn
148 m, 1.16 m 3iR 83 cm ¥ (3MUR =aE x ASE) | FHHT AR Feagl W T 150 Ffd m? = T A ¥
A T AT FA1 B 2
T 839.10 (2) ¥ 841.40 (3) < 842.50 (4) < 838.20
47. A shopkeeper sells an article for T 324 after giving a discount of 28% on its marked price. The cost
price of the article is ¥ 300. If he sells the article by giving 18% discount on its same marked price,
then what will be his profit percent ? :
19% (2) 23% 3) 24% (4) 10%
IS THIER TH I H1 I9% 3Afhd Jod W 28% il P2 3T T 324 T o=l 1 o 1 F9 o4 2 300
B A 9 U 9% 1 3TF I Sifhd GoI W 18% I 2 IH A, A STH AN Wher F4 2 2
19% (2) 23% (B) 24% 4) 10%
48. Mathematics is a way of thinking since : |
It provides an opportunity for students to engage in proofs and examining patterns.
Students reproduce formulae and symbols during problem solving.
Students use appropriate strategies for solving various new problems.
Choose the correct option :
(b) and (c) (2) (a) and () (3)  Only (b) (4) () and (b)
Tfora Uk = 1 Al € HJife
(a) T forenfefli 1 el O SR & Frivem & s (Ser) @ ¥ forn 1EEt wam w2
e ST % < T 96 e fa=i oy e ¥
(c) ﬁmﬁﬁfm#w&ﬁwwmw%ﬁq@%gﬁﬁﬁmwm%l
w@ fasea &1 =97 I
(b) 3 (c) (2)/(a) &R (o) 3) ¥aa (b) @) (a) 3% (b)
SPACE FOR ROUGH WORK / T% &8 fow s
f p-11 (SN 18 N
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51,

A class VI r.nathematics teacher Posed the following problem to her students :

“In a morning walk, three persons started fogether. Their steps measure 70 cm, 85 cm and 95 cm
respectively. What is the Minimum distance each should walk so that all can cover the same
distance in complete steps ?” |

Which of the following concepts would b uired to solve the given problem ?
(1) Concept of LCM \

(2) Concept of division i’ﬁ,&g
(3) Concept of proportion g
(4) Concept of HCF %

A VLT T T Y Rl Y o1 forerfhe 3 mer et v T

o FA WA A @R @y e gy 5@ ITh FHEH HI oA FHE: 70 Q.1
85 {.H. 3R 95 XA, ¥ T W ¥ an e gt e o A g R i ¥ g R w2
i H H-¥ Sremond fe Mo v i we a ¥ ferw s @2

(1) THH FHIEdS (AH.) i staywron

(2) favreE # sEurom

(3) THIUE i rEHRON )

(4) WETH THIYGAH (W.H.) FHI FAHROT :;
"

i
ii 4
The lengths of the parallel sides of a trapézium are 11 cm and 25 cm and the distance between

them is 12 cm. Its area is equal to the area-of a rectangle whose sides are in the ratio 3 : 2. What is

the perimeter (in cm) of the rectangle ? £
(1) 50 (2) 60 0 70 (4) 40

foft wreia wigafor W S 11 cm AR5 om ¥ S I A9 0 12 em 21 T ee <a
S 35 fever 35 e & Tt e 3 2 2% 6 ¥ 1 3 o R (om ) 42

(1) 50 (2) 60 3) 70 (4) 40

¥ varies inversely as y. When x=35, theny=24. What is the value of y when x=5.6?
1) 15 2 2.1 (3 28 ) 14

X, y & WY SFHAAIRA o0 FE | T x=35%, Wy=24 % w9 x=56 ?, T4 y 1 HE 1 8m?

s 3) 28
\_E_)____l_.? 2 21 ) @ 14

SPACE FOR ROUGH WORK / % &4 % fore sz
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53.

B

Which of the following is not a dimension of %éssment of mathematics learning ?

(1) Patterns and procedures r.bﬁ.,-i,
(2) Disposition towards mathematics \'de
(3) Mathematical reasoning €J
(4) Communication é"‘ﬁ

ﬁﬁﬁf@aﬁﬂaﬁq—mvﬁmaﬁm%mgﬁ%mﬁ%?
(1) wfewm (Yo siv wfipen (Fed-fafi)

(2) T % gfa w=m

(3) iy T

@) wET_ "

Teacher conducted an oral assessment in class and found that Ram can speak definition of all

types of numbers - odd, even, prime and composite accurately, but not able to identify the numbers
accurately when given a set of numbers,

Which of the following is most appropriate fqrthe above situation ?
(1) Ram has good memory but lacks conce;;t'-jr_g;_tion.

(2) Ram has good memory but lacks conceptual understanding,.
(3) Ram has analytical ability. T

st

(4) Ram has good memory but lacks practiée.f |

sqﬂaaqﬁﬁaﬁrﬁﬁqﬁﬂﬁfmff@ﬁ?maﬁwﬂaa%?
(1) T B TR AR T € Req T 1 w57t 3

-—()f‘m FI B AR T ¥ T S Wy 5 50§
(3) ™ faveroneTs draa ¥

(4) maﬁwwﬁam%vﬁiaa@mﬁw%'

SPACE FOR ROUGH WORK / 7% %™ % fort <
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54.

i

he following tabl
The following table Sho“jﬁ_ﬂlg_rlumber of different fruits kept in a carton :

Type of
ﬁ-?i)ls Mangoes | Apples Oranges |Guavas| POme-
granates

Number | 44 56 42 30 38
Ifa pie?chart is constructed for the above data, what will be the angle of the sector representing
apples

n 720 2) 96° (3) 100.8° (4) 79.2°
ﬁmmﬁﬁ&ﬁ%ﬁﬁr@mﬁquﬁaﬁﬁm&ﬁﬁmﬁw% :

el

e

& | 44 56 42 30 38

TSI HHS! 1 Th T I o711 1 8, A1 39 SRS 1 10 01 80T S el 2w &2
(1) 72° (2) 96° (3) 100.8° 4) 79.2°

A middle school mathematics teacher poses the following question to her class.

“Which type of graph would you use to show the following data ?

(@) The heights of participants in an athletics meet

(b)  The number of passengers boarding trains from 9:00 am to 9:00 pm at a station.”
The intention of the teacher is to -

(1) Introduce the concept of pie charts.

(2) Teach line graph through contextual situations.

(3)  Teach the use of histograms for data representation.

(4) Help learners understand the difference between bar graph and line graph.

free et i ftra =1 s fften st e & ww Frefofed ver wad ¥

et sitwel 1w ¥ fog oM 9 TR F e & swEm w0 2

(a) forelt Goege yfqafan § sfawifdl & &g

(b) et Tvm W WE: 9:00 S @ T 9:00 T T Yot § W A ARG 57 H |
Fenfie 1 3v § -

(1) YR-=r = @yron &1 9=d <1

(2) TE-erE 1 deutars IRferdal Sar e &)

(3) el % faegm ¥ forq smaafed & ST &1 e &

— ) =vz-aem o - & S 6 SR R gHeE F fanfofi w5t weraa wo

SPACE FOR ROUGH WORK / T %1 & forg =g
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56. Concept was labelled as ‘Schema’ by :
(1) Piaget (2) Bruner (3) Van Hieles (4) Vygotsky
— TEW Eynon i ¥ w9 A AR fohar T A
ﬂﬁ/ﬁ‘ﬁ 2 TR (3) (4) aETER
57.

Three consecutive integers are such that when they are taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third

integers ?
(1) 18 2 20 () 24 (4) 16

9 AT Uit 39 YR € i T 32 90 gu sy H foran s € ol e 3, 5991 2 | on e S
S &, T AT 99 WTe B § | STRAER et aen A quish s 2 o E 2

(1) 18 (2 20 (3) 24 4) 16

58. The difference between two supplementary angles is 20°.

If the smaller of these angles is p, then
the value of 3p—50° is :

(1) 270° (2) 250° (3) 190° (4) 310°
< GF IO HT S 20° %) AR TH AT A0 p §, A 3p-50° T 2 -
(1 270° @ 250° | @) 190° @ 310°

ca

59. One of the factors of P3I+P2(x—y)—p(y+z) AN

(1) Pr+py+z @ pPa-py-z () phkipy-z (4 Px—py+z

pr+PAx—y)~pU+2) -2 F THEE § § v e ¥
(1) Px+pytz () pr-py-z  (3)

R

px+py—z (4 PX—py+z
SPACE FOR ROUGH WORK / 1% @™ % foTT wig T
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60. A studentwas given the f°u°Wing problem on percentage to solve,

“Find the percentage of decrease if the population of a city decreased from 28 000 to 26,500.”
She wrote the following solution,

Original population = 28,000; New population = 26,500

26,500
= X = 0
% decrease 28,000 100% = 94.6%

Which of the following is most appropriate with respect to the response of the student ?

(1) Student has solved the question correctly but has used wrong symbols in solution.
(2) Student does not know the concept of percentage.

(3) Student has made a careless mistake.

(4) Student is able to understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

T feendt =1 e W Frfefan woen wa =0 $1 @ T
wwmﬁmmmﬁwz&saoﬁﬂﬁ%am#aﬁﬁuﬁmmww
3 frefafaa e fom, - .

A ST = 28,000; F SRS = 26,500 T ESD

S — %%fxmo% 94.6% A

foremeft % e 3 oot Frefirfias § @ T TR TR 42 .

() ot % 5t 0 w0 s & @ o & P S S e i ey (Y72 G
() forenet sfiereen % areom =1 7 S | 9

() foremeft 3 sy T 34 # }LL

(4)  ferensff yfereran 1 sravRon H WHEH W H € W 97 9 T O § wmef 74 & i frg o 5
wiasraar Ja FE

."-.____-_-___

?(EE 1:01'{ ROUGH WORK / % aff % fom s
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‘}/z/;?? Y

I ||||||||||||||ﬁ|1||)‘r 2 N
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Directi i : ;
@ following questions by selecting the correct/most appropriate options.
4 Fetferfiaa goat & sav 23 & forg Wel Qe Iugar faheyq e/

61. Which of the follow

62,

ing is . . ] F ;
by a teacher ? g is not desirable with respect to carrying out of a classroom demonstration

g; gmphasise beforehand the linkages that students are required to make
upplement the demonstration with explanations

(3)  Follow up the demonstration with discussion

(4) Rehearse the demonstration before carrying it out in class

frefafeas & @ # w fowes g wan § wee F) FEifad w0 & oy § atoda T8 €2
(1) w7 g & 37 oe (Geei) W e 2 fome fmtor s fomfefd % fog s @
(2) YRR H AT F FGH HEN (W FA)

(3) U=l % Wy Wa¥ F ST B

(4) he H wEifad HE Y Td geuiE & ST B

Which of the following statement(s) is correct ?

(1) Fertilisers enhance the water holding capacity of the soil

(2) Fertilisers provide a lot of humus to the soil

(3) Fertilisers increase the number of friendly microbes in soil

(4) Fertilisers are richer in specific nutrients as compared to manure

Frofefag § 9 S99 91/8 %y w8 /8?2 J K
(1) S a1 SreruRn s gfe i € '

‘(){’ e @ e B W A e el

63.

p-11

(3) Eﬁlﬁﬁwﬁﬁﬁ?ﬁaﬁaﬁﬁ#@ﬂﬁq@éaﬁ%
4) wﬁéﬁmmmﬂﬁ%gﬁuﬁmwéﬂ%
‘ ass VI students shows the following

A teacher while teaching the chapter ‘Body Movements’ to cl

images to her students : .
A sailing boat, swimming fish and a flying aerop

shape of th '
by students m
(a) Classifying

(2) ()and(d) o Tok
@ andaq(;)ﬁ ey VI 3 faefer # ‘yriT A ﬂﬁr RLC]

lane. She then asks the students to reflect on the

images and the manner of movement. Which of the following are likely to be employed
e

- ? .
el Observing (c) Inductive reasoning (d) Measuring

(3) (a) and (d) (4) (a) and (b)
g wwa frafatea wfafas fe@rdt

s forfes ‘ Y A ~
. e e Tt ] Wi = spfa
3fr T Sedl gaR S | . { .

Wﬁmﬁgﬁ*ﬁiﬁ%. s 3 ¥ for forat i g et 8 o gy 9 9
%maﬁgﬁﬁvﬁ'ﬂﬁ e e ‘

_ g -
rinfora faa1 ST (b) ~FEEEA (c) STTHACTR et . (ri)‘éﬂ:ﬁ
0 \ 2 (©ME @) @M@ - W), 1@ R
(1) (b AN (c) ‘ N
Illllllnlllllllllllll
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65.

Identify the set of micronutrients (
(1)  Copper, Phosphorous, Calci
(3) Zinc, Iron, Manganege -

ﬁﬂﬁ—r‘@aﬂﬁwﬁa)qmm

Nutrients required by plants in small quantities) :
um  (2) Sulphur, Aluminium, Chlorine
(4) Potassium, Magnesium, Copper

% W= (o geel § uedl g e W) @i geEH

(h
- - . /
(1) TS, HERRE, S (2) How, gfafEm, FrE
@) foi (wm), e, Sy (4)  ieform, Yrffewm, d

Which of the following is NOT indicative of the hypothesising skill ?

(1) Attempting to explain observations or relationships in terms of some principle
(2)  Using the senses to gather information

(3) Identifying variables for an experiment

(4) Formulating questions which lead to inquiry

frefafed 3§ 8 ®F o R 0 F S w v 16 §2

(1) Fo Tagial % fawa 4 s sien dei w1 smen +3@ &1 5" FE6
(2) T THA B % e il 1 swdm wwn

LRy el s 3 fer =i S e e

b6.

Py

T

T

4) @aﬁ?wéaﬁaﬁwaﬂm -

Read the following text : i

When a negatively charge&md is brought near an uncharged electroscope,
(a) the electroscope leaves/move further apart L
(b) both the electroscope i'eqves acquire similar charge wr

(c) the negative charges, paﬁs on to the electroscope causing its leaves to move further apart
Of the above three statements :

(1) (a) and (b) are observations and (c) is an inference

(2) (a), (b) and (c) are observations

(3) (a), (b) and (c) are inferences

(4) (a) is an observation while (b) and (c) are inferences

Frefafea ora =1 afgu

e He T Y S 98 (W) aﬁmﬁﬁﬁﬁwﬁ%ﬁmmm%

(a)  forereeff ot s g A g S

(b) 2 fereeett wfeaf TR e St wal

() wmﬁﬁﬁﬂﬁ@ﬁﬂmﬁﬁﬁmﬁm%ﬁﬁmmqﬁﬁ@_@@w

W?ﬁqwr-ﬁ% %/ )
) (a)a‘ﬂ(b)oqaf-har-l%gsﬁt Wﬁ 6 ‘

2)  (a), (b) =it (c) srareieg &
) (a), (b) = () T =
(4)  (a) HaerFA & sr® (by H () A &

W * A
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67.  Fing th : de of asexual reproduction
s et that in column A with the mo
which they ex;jbci;n;rectly matches the plants i €O
o S s
o . . v
®  Yeas W BENE ey
—— (i) Spore formation oSl
(€)  Ferns (i) Fragmentation | :

(v) Vegetative propaga‘_'fic?._!_l_ .
@), O, ©-), @) @) @S, B, -6, @0
G @-Gv), O)-Gii), (@), (@)-G) @) @, B)-G0), (©-G), (d)-Gii)
S W A1 Few fw wrem A F TR w1 T g el st s R fafa WY v v 3

TAaF@E:
HiH B

(a) qEHeH

(b) ST T=

(© (i) @A

(d) (iv) T Nt
e was L

D @), -0 @0, @) @) @), OG), @) @0
@) @), ®rGiD, ©-0), @-6) ] @ECY B)-6), ©)-(), (d)-(i)

68. Read the following para

graph carefully and selegf"’ti_}e option which would correctly fill the blanks
in the given order.

O
Sound is produced by vibration and different musical
a__X the sound is produced by stretched strings,
vibrates and ina __Z _the vibrating part that prod

X, Y and Z can respectively be :

instruments have specific vibrating parts. In
ina__Y itis the stretched membrane that
uces sound is the air column.

(1) dholak, ektara, mouth organ (2)  guitar, tabla, shehnai
(3) ektara, violin, pidno © 7 - '4) sitar, harmonium, dholak
Waﬁﬁwﬁ@awwﬁmmwﬁm%ﬁm@mmmﬁﬁm
T Wl W |
wﬁwgmwaa’r%Hmﬁm—fwwﬁaﬁﬁﬁﬁﬁma@ﬁw@?y%h&_ﬁﬁﬁaﬁaﬁﬁ?;ﬂl
e Bt 8, Y e et & o vt &4,z ety seent vt e s YT, AT

(FHeH) B T .

X, Y 3R Z %E9: 8 9 € -

(1) @, Tha, TE-3mie @ f R, Ferel, e
(3) Zohdld, arfe, frar (4) ﬁRJTI'(','ETﬁfﬁ'QH, BT

h'. |

p-11 (NN 26 () N
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69. Which of the following would be a most suitable strategy to introduce the topic ‘deficiency diseases’
at upper primary level ?

(1) Arrange for a doctor’s prescription pertaining to a deficiency disease and hold a discussion
around it.

(2) List the various nutrients and the functions they perform in human body.
(3) Hold a discussion on common human diseases.

(4) Provide a definition of balanced diet and introduce the concept of deficiency.

I e TR R S I favg iy w0 F1 Frefafad 3 o ged SugE Wit e ?
LY AES A R Heifuq St (Fafrers) & WY # o # S W A S

(2) WWﬁﬁﬁﬁmaﬂTﬁﬁﬁmﬁmaﬁmﬁ?W%B@WW

(3) WM HIE Hsigt TN R ufiE=t S

(4) WA SRR H GRS YT FT A1 39T F STIERON HY TGA FT

70.  Seed dispersal may be said to help the plants in all of the following except :
(1) avoid competition for sunlight, water and minerals
(2) invade new habitats
(3) produce new varieties
(4) over crowding

- mm%ﬁ?ﬁqﬁf@aﬁ@mﬂﬁaﬂamﬂh%mﬁmw%(mﬁ%)w
) T F I, m@@ﬁaﬁ%mmm%

(2) AT TS § I UHS T &

(3) 8 fored 3w ®

@) W

71. Read the following statements carefully and select the correct option.
Assertion (A) : The stars in the nigl:lt sky appear to move from east to west.
Reason (R) :  The earth rotates from west to east.

(1) (A)' and (R) are both correct but (R) is not the correct explanation for (A).
(2)  (A) is correct but (R) is incorrect. . " N,
(3) (A) and (R) are both incorrect.

(4) (A) and (R) are both correct and (R) is the correct explanation for (A).

Frerfafen sy 1 eargdes afge ao W& fases &1 w9 Fifs)
Aot (A): o s # TR gd | IR R SR 1 e wee o F
T (R): e e @ o fawm # ol w0

Ly (A) o (R) A T E T (R), (A) F 9@ @ @

(2) (A)wé & T (R) 7M€ :

(3)  (A) it (R) 2T Terd €

(4)  (A) e (R) 2 = & 7 (R), (A) F S & /
PIC 27 ﬁ N

I e
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72.

id)ent:ify the correct statement(s) :
a) :

A fact is an observation that has repeatedly been found to be true over the time.
(b): Alaw is a theory that has repeatedly been found to be true over the time.
v ana ) () Only (b)
(3) Neither (a) nor (b) (4) Only (a)
w@ T/ ) qemm Hife .

(@) : T TH Sreeie ¥ AR wEER SwER w8 T T
(b) : T ww fagia ¥ fod et arew o @ T
1) (a) R (b) @) FEa (b)
(3) (a)aﬂt(b)ﬁﬁé*ﬂvrﬂ (4) FA (a)

73. A ball is thrown up in the air. It reaches a maximum height and then returns to the thrower.
ich of the follo

wing quantities have the same values during the upward and downward motion
of the ball ?
(1) Force of gravity (2) Displacement
(3) Work done by gravity

(4) Acceleration - |
T T Y 7@ F SR FY 2R S T & SAHTH F9E T TEE F TqIvE Hh TS F I G927
e |

T T SufogEt 3R st i/ % gug Frafafed & & 9 & aftrd = gam am 2
) T w5 . . L) fEEmE

(3) T B T T g 4) =

74. Read the following statements carefully and select the correct

S1: Rayon is a synthetic fibre.

S2 : Rayon is made without using any natural raw material. g
(1) S1is true and S2 is false (2) Slis false and S2 is true ~ *
(3) Both S1 and S2 are false (4) Both S1 and S2 are true

fafafaa w9+ mﬁmq@qawuﬂﬁmmwm:
S1: WA U+ Hives §g 21 =
S2 : Y i o ferell Wl =Y Wt 3 W 3 s S

option.

W g sim@ sz memy 2) S17eE e sy wd
(3) S19S23M oM § 4) S19S23A TE ¥
75. Which of the following gases are responsible for acid rain ?

' (a) Nitrogen (b) Oxygen () Ozone
(d) Sulphur dioxide (e) Nitric oxide
(1) (b) and (c) (2) (c) and (d) ()  (d) and (e) 4) () and (b)
(a) AR (b) ST () sisi

AeFT SRATEEEE (e) T rfZF FfwEEe

:;j)) “(b) 51‘]1' (c) _ 2 (© S (d) M‘ﬁh (e) 4) (a) 3ir (b)

P EENNEARINN N
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76. X and Y are thick, black liquids which can be used for metalling the roads. X is derived from
petroleum and Y is derived from coal. Which of the following can X and Y respectively

be ?
1) Coai Tar, C.harcoal (2) Charcoal, Bitumen
(3) Coal Tar, Bitumen (4) Bitumen, Coal Tar

X 3R Y T et B ¥ TR webt e w) gee ) ¥ forw fpm S aw@ 1 X e § e € 9
Y Fad § o | Freffea § 4 w9 @ s X sy @ g £

(1) IR, TEHA (FDS-FR)  (2) aww (Fre-waan), fagh

(3) R, fagam " forgi, Fremr

77. Which of the following is the most suitable reason behind Newtons theory of gravitation being
regarded as an excellent theory ?

(1) It has been arrived at after thorough experimentation

(2) It has been formulated using the precise language of mathematics

(3) It has been developed over a long period of time

(4) It explains larger number of observations by making fewer assumptions

T & Teehd & Rl 1 0 e fergia e % D Freffed 3 § i W weifics ST SR
87 -
1) W R A ¥ qvEE @ g T

(2) X WA OIS T WA Rk o feRa T ®

(3) 3V ey srafy W faerfaa fomar mn €

(4) % FH HRUTE SR T HEA § &0l <k ST HA

78. Read the following statements and select the correct option.
Assertion (A) :
Dried raisins when left in plain water for some time swell due to osmosis.
Reason (R) :
Plant cells have a selectively permeable cell membrane.
(1) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(2) (A) is correct but (R) is incorrect.
(3) (A) is incorrect but (R) is correct.
(4) (A) and (R) are both correct and (R) is the correct explanation for (A).
frferfaa FeRi =1 afee ik W@t oo & =2 Hifsr -
Afrmem (A) :
T g vt ) 99 $9 999 & T TR 9@ F B18 e T @ o wreww % wR G st 2

T Hifee § SO €9 @ aﬁ_ﬁmﬁ@ftaﬁm
(1) (A) 3R (R) A 78 E T (R), (A) H w@ e T
(2) (A) W@ & 7 (R) TEE RN - - ,
(3) (A)7ed & WA (R) T R

4 () s (R) 26 T & 7N (R), (A) 1 F =

W T 29 N

-
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. —_— otes scepticism ! JI
7% Which of the following best explains the statement science prom |
1) Science is purely inductive in nature
(2) Scientists do not trust the findings of other scientists
(3)  Scientists are open-minded and willing to modify their ideas | g
(4) Scientists judge the validity of a claim based on objective empirical evidence
' ?
Frfafes 4 4 9 IS wY § a9 TREaR B TE 241 &' FHUA I A HIA T 2
1) T vl ¥ w5 v § s &
@ [ % it | T favara F& #3d §
() St TR (sm) A ¥ sta-aRomi @
®3) ﬁmmﬁmaﬁaﬁ%wmﬁﬁﬁrﬁﬁmﬁﬁaw%@%ﬁ%
(4) TS sTwfas e & smum w At T 9 dua w o
80.

Which of the following statements regarding rusting of iron are true ?

(@) It involves a chemical reaction between iron and oxygen.

(b) It is an exothermic reaction,

() It can take place at room temperature.

(d) It is reversible reaction.

(1) (b) and (c) (2)  (a) and (d) (3) (@), (b) and (c)
ﬁw%ﬁaaﬁﬁﬁq@fwﬁ%ﬁﬁhwﬁ%ﬁuﬁuﬂ%?

(a) Wﬁ%(@%)mm%mmﬂﬁmﬁmm%
(b) IE T FoATEt fufrar ¥

(c) TE U 9 (HIS-T9) T & Tehayr &

(d) I€ Sohavia afufwar 8

1) (b) 3 (o) (2) (a) 3R (q) 3) (@) (b) 3 ()

@) (@, (b), ()

@ @), ()
81. Which of the following is a set of animals in which all show external
(1) Lizards, butterflies, frogs )
(3) Frogs, fish, starfish

fertilization ?
Butterflies, frogs, fish

(4)  Hens, lizardy, butjerflies
mﬁﬁ.mﬁ-ﬁ'ﬁﬁwﬁm%ﬁqﬁ@%ﬁwﬂ%%? ‘

(1) W, fﬁa?ﬁ, m (2) ﬁﬂ?ﬂ, ﬁ_‘FF, T
A8 HoF, wued, whifwu (4)  fl, Fovereh, foeeh
P-IT (WAL 30

b
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g2. A body has a linear momentum of p and a mass of m. The kinetic energy of the body
is:

(1) 2p'm (2) Ep—n; A (3) pm 4) p’m

o e 13 S p o T (aifny 1 e e 7

2 tn
(1) 2P2m (2) 2 T (3) pm (4) p(

2m T
g3. Identify the correct statements from the following : -F '
(a) Generally non-metals do not react with water.
(b) Generally non-metals do not react with acids.
(1) Only () () Both (a) and (b) pa
(3) Neither (a) nor (b) (4) Only (a)
freifefad = @ W& Ful H veem i
(a) EEIEE: ST S ¥ e s A6 NO‘OM o g
(b) TR aamaqﬁfé:maaﬁaﬁdﬁ'ﬁ%’fmu pe&x t1” pros

(1) = (b) @) ) 3 ‘;n:+
(3) A (@ TH (b) (41 FI (a) M Fa

A box of mass 500 gm is lying on a hoﬁqpntal table. Which of the following statements is true
regarding the force(s) acting on it ? [g=10 m/s?]

84,

(1)  An unbalanced force of 5 N acts on it in downward direction
(2) A pair of balanced forces acts on it ‘ '
(3)  An unbalanced force of 5 N acts on 1t in the upward direction
(4) No force acts on it

@ﬁm(aﬁm)ﬂa(m)wq@@@%ﬁ(aﬁmwm(m)mm%n 3 W I
W/aﬁ%wﬁﬁﬂﬁfﬁgaﬁﬁﬁqmwﬂﬁ%? [g=10m/s2]

(1) ﬂ%@ﬁmﬁwm5Nmmaﬂmm%
) WWWWW(W)Wm“wm%
(3) mﬁg@fdmﬁwmsNWW@ﬁhmmm%

(4) w8 g 9w Fd T F@E 1 ':

-
T vy 1 N
k




85. The differe between maximum and minimum resistance that can be obtained by connechng
. nce betwee

1
three resistances of Q each is :

8 Ly £0
M so @ 10 G 3 @ 3
aaﬁzmam:fmqmwmaam amvnmﬁm 0 %?ﬁwﬁiﬁﬁﬂaﬁvﬁsﬁ%mmﬁmw
?aEd:
8 1 (o)
1 3 2 10 @ o o =
Ry
86. Wluch owmg is the most suitable strategy for introducing the students to the concept of
‘chemical reacﬁ A5’ Tat upper primary level ?

‘.LL-Q

(1) Wn1gﬂ1é chémical equations in symbolic form and ask !;;dents to observe
TLEN Y

e ¢

T (2), rpqﬁwa chelrlibal l;eq.gtlon and give e ’

xamples

(3) Hold a discussion on chemical reactions which students ate likely to have observed in their
lives -

4) HorAadl TAaZA M giraaf fam = sravoon 57 s L8|

N
32
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7. Consider the test item given below and match the following :

Column - A Column - B
Unit of force Joule
s}rmbol of iron HC1
Formula of hydrochloric acid Ag
Unit of work —i|i|—
Symbol of silver Calorie
symbol of battery Fe
Newton
Which of the following is not a reason that can be given to justify that the item is p ooty
constructed ?

(1) There are unequal entries in column A and B

(2) The matching pairs can be easily guessed

(3) There is inconsistency among entries

(4) For an entry in column A there are at the most two plausible entries in column B

= § ¢ e Al W faem Hifvw qon frefafea S g S

™ - A HieH - B
maﬁﬁlﬁ( )
HCl
FH & HE (AHH |]||t— .
e} Fard
Ersiica Fe
e
%mmm%mﬁmﬁ%wﬁﬁ%wﬁnﬁmﬁémmwﬁﬁmm
Hehell § 2

(1) Ffem A sl B # sramm gaftedl

(2) firer gu g7 &1 ST @ STAM A S Fhdl §

(3) wfefeedi § (% e &) foimfa @

(4) Ffom A § fad wfafie & foau Fiem B H sifusan 1 gfer wfafes) &

88.  Which of the following plant disease(s) are caused by bacteria ?
(a) Rust of wheat (b) Citrus tanker () Yellow vein mosaic of bhindi
(1) Only (b) (2) (b) and (c) (3)  Only (c) 4) () and (b)

Fretfeafas 4 4 5 4 9y 1 (Fnfy/E) St gr 8 €2
(a) i # v een (7 1 fhez) (b) fagE T (©) et &t da for fi

“) m (b) (2) (b) 3t () (3 %qu () (-l;))w.{l\)

P.
0 R 83 ;
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inciple of
89. __X__is a device which is used to see around corners and is based on the princip —X_
Xand Y respectively are :

(1)  Kaleidoscope, refraction (2) Periscope, reflection

(3)  Periscope, dispersion (4) Telescope, reflection
wa%mmm%ww%mmw%mw_l_*mﬂmﬁa%u
X 3R Y wer: ¥ .

(1) <gEueEd, veds (2) e, wEcH

S e, sl ,mrwia(évﬁmq),m

90. Match the substances in column A with their chemical names in column B.

(A) (B)
(@) Slaked lime (i) Calcium oxide
(b) Table salt (i) Sodium bicarbonate
(c) Limestone (iii) Calcium carbonate

(d) Caustic soda (iv) Calcium hydroxide
() Quick lime (v)  Sodium hydroxide
(f) Baking.soda (vi) Sodium chloride

(1) @-(vi), (B)-Gi), (O)-(v), (d)-G), (e)-(ii), (B)-(iv)
(@) (a)-G), (B)-(vi), (O)-(id), (d)-(v), (e)-(ii), (B)-(iv) | |
B)  (@-(v), B-(v), (©)-(ii), (d)-Gi), (e)-Gi), (B)-(vi) / .
@) @-Gv), ®)-(vi), (©)-(ii), (d)-(v), (e)-(i), (F)-(ii) |
ﬁmAﬁmmwﬁmﬁmnﬁﬁmmmmw%mgﬁaaﬁm ;

(4) ()
(a) T ), HewT sites
(b) G ) WIfeas arwEte
(c) = (iii) feway FEtre {Uquol
d) whE (v) e Teeams oy
(e) fammgesm Hifea Trgase Ve " -
() SfeT g (@) O @ﬁmm C)ko
M) @), X, (), (@), (@)-(i), (O-GvN\g
(2)  (@-6) ®-Fi), ©-(ii), @)-(v), (©)-(), (©)-(iv
LBy @-v), (B, -G, (@)-Gi), @)-60), ()-(vi) RNE

(4)  (@)-(iv), (B)-(vi), O-id), (d)-(v), (e)-(i), (F)-(id
T P-I (RNINIRRe - .

";
i e EE——



o

R
IMPORTANT / Eeaqol .
Candidates have to do questions 31 to 90 EITHER from Part - 11 (Mathematics and Science) OR from

Part - I1I (Social Studies / Social Science),
qftenfar @ WT 31 & 90 A A W - 17 ( wfor 7 BT AT W - 111 ( AT STEAT / WA
frT) @ F &

PART - 111 / Y191 - 1l
SOCIAL STUDIES / SOCIAL SCIENCE - WMIfi® 31eqd / Arifore fasm

Direction : Answer the following questions by selecting the correct/most appropriate options.
fadr : freferad T & ST &3 % fore wEt waR Suga faded AT
31. Torrid Zone on Earth receives maximum heat as :

(1) itis bounded by oceans

(2) the mid-day sun is exactly overhead

(3) rays of the sun are slanting here
(4) itisland locked

gl W 39 Hicata &5 god 1fus T W = § i -
(1) e HeMrH & o @

2) e 1 g4 i fR & S dar R

(3) Ie gd # forxol o) Bt §

(4) TE TS

32. India and Bangladesh are leading producers of jute. Choose the correct statements that support
growth of jute.

(a) It grows well in alluvial soil.

(b) It requires high temperature.

(c) It requires low temperature and low rainfall.
(d) It requires heavy rainfall and humidity.
Choose the correct options :

(1) (a), (b), (d) are correct (2)  (b), (), (d) are correct

(3) (a), (c), (d) are correct 4) (@), (b), (c) are correct

YRA 3R SRy gee (S[2) % Sl SRS €1 Tewd # gfg B 5 weH R 9 FUE F 99
FifS |

(a) ¥ Veiig g1 # 31wy < A ferwfaa 2 #

(b) T I== AIGHH I SEYFHAT B € |

(c) 34 et qrame iR fore aul &t sTravaswar gt 7
(d) T8 9 auf 3R SEar F TR Bl 7|

T faweq &1 =999 Fifaw)
1) (a), (b), (d) & & (2)  (b), (c), (d) wet ¥
3) (a), (), (d) W & 4) (@) (b), (c) wet &
P-1i LTI 28 N

a e
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33. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :

In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.

Reason (R) :

In 1966, the state of Punjab was also divided into two States Punj
Haryana for Haryanavi or Hindi speakers.

Choose the correct option of the following :

(1)  Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

ATUHUT (A) T HT (R) H &9H § T3 -

AHFRST (A) :
1960ﬁ1%mﬁam§mﬁaﬁmaﬂtwWﬁﬁ%ﬁﬁﬁw~wuﬁﬁa‘1’aw:
HIUT (R) :

1966 H 4SITe i Wt faursm < oo 8 gem ) vomm, it siftedt 3 fere sii efamom, sfemst o et dreny
el & few

fretferfian & & wét faseg o

(1) ﬁ(A)@(R)'HB’T’%%(R],(A)ﬁ‘&‘II@T?ﬁWI
(2) (A) F& 2 fog (R) e |

(3) (A) T ® g (R) T&T )

(4) < (A) TS (R) 9 ¥ @91 (R), (A) Fi =R FE L

ab for Punjabi speakers ang

34. Read the statements (A) and (B) carefully :

(A) : In 1817, James Mill published ‘A History of British India’ in three volumes.

(B) : In this he divided Indian history into three periods - Ancient, Medieval and Modern.
Choose the correct option of the following :

(1) Both (A) and (B) are false (2)  (A) is true but (B) is false

(3) (A) is false but (B) is true (4) Both (A) and (B) are true
FYI, (A) T (B) Y R F U

(A) : 55 o761 3 1817 ‘u fewght 1w fatfewt Sfean’ qTi oy foRan)
(B) : ¥9H 32 KA 3ferd 1 7 el - wres, Aeg 3 ayfre A afer 7

frfafad 4 4 w@ fawes =7 -
(1) =i (A) 921 (B) TTeid €1 (2) (A) G&l ¥ foreg (B) TTeta |
(3) (A) e ® fahg (B) W (4) =N (A) = (B) TE T
P-11 (W RTII WA 36 N



35. Ladakh is also called Little Tibet due to :
(a) Geographical proximity (b)  Religious similarity

(c) Similar cuisines (d) Linguistic similarity
Choose the correct options :
(1) (b), (c) and (d) (2){ ¥a), (b) and (d)
3) (@ (®) (c) and (d) (4)—-(a), (b) and (c)
% R O W) B fas it Fed §
(a) e Tnfre (b)  wfsish
(c) T i (d) W
wd fashey &1 =37 Fifw -
(1) (), (o) 3 (d) (zy «g(a) (b) 3R (d)
(3) @) ®), () 3 (@) (@7 (a), (b) 3 (©)
36. The atmosphere is a thin layer of air surrounding the Earth. What keeps the air to remain around
the earth ?
(1)  Heat of the sun (2) Rocks and oceans on the earth
(3) Gravitational force of moon (4) Gravitational force of the Earth
it & =R 7R et A1 Y e WA # arqEee Fw ¥ 1 =TS A o YAt o =R 3R S T B 2
(1) T+ o (2) 9= W T 3R HemmR
(3) i T TRy W (4) qﬁrww&maﬁ

37. Read the assertion (A) and reason (R) ca,r'.'_‘ )
Assertion (A) :

Dadabhai Naoroji, one of the great leader éﬁ;lﬁdlan National Congress, never become the President
of INC. {

Reason (R) : i

He was a businessman and publicist settlgd.,m London and for sometime a member of the British
Parliament. —

Choose the correct option of the followmg_ -
(1)  Both (A) and (R) are true but (R) dées not explain (A)
(2)  (A) is true but (R) is false
(3)  (A) is false but (R) is true
~ (4) Both (A) and (R) are true and (R) explains (A)
(A) AT SRIUT (R) ! &9H € 9% :
Afiarer (A)
TRINE AR, S o AR T S F 5 A 9, Ffl it el T i ¥ srerer T w3
FNT (R)
& T SRy A1 A F @ A R FS W F for Ffew e ¥ wew o @
Frrfefas & & wdr fames o4 ¢
(1) < (A) @ (R) T& € 6 (R), (A)
2) (A) =& & fg (R) T |
(3) (A) e ¥ fbeg (R) 1 -
(4) =i (A) @ (R) G € 941 (R), (A)ﬁﬁttﬁ'f‘cb‘m%

] . 1
U T “ ; ? )



TS

Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA),
Choose the correct ophon #

(1)

(2) It was founded in 1928 at Amritsar in Purl]'%b
(3)  Members of the HSRA assassinated Sauﬁdet‘s, a police officer.
(4)  Bhagat Singh and his comrades founded:mx;; organisation.

mmﬁqﬁﬂmm@q(@@m) % aR ¥ frefafaa § 9 9.
& forsew 53 - )

(1) 1928ﬁ1‘ac—vﬁaafwaamgaﬁmifMqu§él

(2) 1928'3WH%3TW’§W@W§§I

(3) ﬁ.@.m.q.%m%mwwgmmaﬁmaﬁﬁn

(4) mmﬁigaﬂtaﬂ%aﬁﬁmww?rguﬁwmﬁﬁl

38.

39. Winds blow dry leaves down the pavement. How do winds blow ?

(1)  Movement of air from low pressure area_téjugh pressure areas.
(2) Movement of condensed air. "

(3) Movement of plants and animals.

(4) Movement of air from high pressure are .low pressure area.

99 HeF W R gt ufedi o e ¥ W%ﬁ‘mﬁ%?
(1) ﬁmmaﬁﬁmm@aaﬁ@rzmﬁﬁj
(2) wufta arg =t afq)
(3) i SR SHa-sigsti =t f |

(4) =9 @ & | = T & R Ay 9 h

40. The earliest evidence of growing crops like wheat and barley are located in which one of the
following places ? Choose the correct option.

(1) Malabar hills (2) Sulaiman and Kirthar hills
(3)  Nilgiri hills (4)  Gdrd hills
‘g’ ue S ﬁﬁmmﬁﬁamwmmﬁtﬁﬁa&ﬁﬂmvmﬁﬁﬁ%? TR g o g
(1) e feem (2) Hﬁﬂﬂ 3R fotem feow
(3) et fem (4) tlT‘:’l feww

.I ! N
3d
2V T ,




41. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :

It was during Shah Jahan's reign that the different elements of Mughal architecture were fused
together in a grand harmonious synthesis.

Reason (R) :

His reign witnessed a huge amount of construction activity especially in Agra and Delhi.
Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

AFHHAT (A) T FHROT (R) 1 27 Y 0

AfHYT (A) :

VSTl o W & SR el T % fafv=T oo U Wou qETe Geeror § o T |
&I (R) :

T YA H ARG i sl = @, fois w9 @ o i fewstt )
frfefaa & & wdt fase =

(1) = (A) @ (R) & ¥ 5 (R), (A) i =men 76 &= ¥

2) (A) = ? T (R) T |

(3) (A) e ® g (R) W&l |

(4) W (A) T (R) F& § T (R), (A) FT =20 F7T 2|

42. Read the statements (A) and (B) carefully :
(A) : In 1770, a terrible famine killed ten million people in Bengal.
(B) : About one-third of the population was wiped out.
Choose the correct option of the following :

(1)  Both (A) and (B) are false (2)  (A) is true but (B) is false
(3)  (A) is false but (B) is true (4) Both (A) and (B) are true
FYA (A) a1 (B) F H A TS

(A) : 1770 & mel § T WA SHTA 7 T TH FUE @i 1 91 ey |
(B) : 20 wahTed T A il Uah-Taers &S T@H & T |

FreAferfaa 4 4 wd faswes 94 -
(1) i (A) e (B) Terd (2) () 5 ¥ T (B) o
(3) (A) e & fa=q (B) eI (4) =W (A) 7o (B) et ¥
e T L 39 N

a
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on (A) and reason (R) carefully :

43, Read the asserti

Assertion (A) :
Tribes have ric
Reason (R) :

Land, forests, grasslands and w.
shares and yseg these together.
Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explains (A)
(2)  (A) is true but (R) is false

(3) (A) is false but (R) is true .

(4)  Both (A) and (R) are true and (R). explains (A)
(A) T =RwT (R) FYy A T

(A) :

i d music etc.
h and unique cultural traditions including their own language an

ater are regarded as the wealth of the entire tribe and everybody

ﬁm%faaﬁﬁrvﬁﬁmaﬁ:

(1) ﬁ(A)@(R)Gﬁ%W(R),(A)ﬁWHﬁml
()  (A) & 2 5y (R) o |

()  (A) T ® fhg (R) we

(4) aﬁf(A)qa‘(R)aﬁ%am(R), (A) BT =me e §)

‘Peri ', a Tamil work informs us about whom ?
" (li;enygfl‘:g]a:r:n;n; p(?ets " (2)  Ordinary men and women

(3) Soldiers and military generals (4) Kings and queens

‘&ﬁm{mm',qmﬁﬁla?ﬁrsﬁmaﬁﬁmﬁ%? |

(1) fagmr iR Sl % ar 3§ @) wwwaﬁtn%maﬁ%ﬁahﬁ

(3) faufedi iR d=-wefi Fa (4) TS SR Tl % an W

45. Our solar family consists of following celestial bodjes :
- (1) Satellites, Planets, Pole star

(2) Sun, Planets, Satellites, Asteroids, Meteroites
(3) Planets, Satellites, Asteroids, Saptarishi
(4) Constellations, Planets, Sun

mzﬂwﬁmﬁmﬁmﬁ@h&ﬁaﬁ@fﬁw%:
(1) 39U, T8, ya am .
(2) qﬁ,%,m,m,awm

(3) W%, 39UE, YT, GuHy
(4) AwAdEd, UE, g4

40
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j. Lines drawn on a globe are known as latitudes and longitudes. What purpose do these lines
serve ?

(1) To locate places on earth

(2) To beautify the globe

(3) They are furrows on earth and indicate physical features of the earth

(4) Tomake designs on globe

T Tl G TR @ 6 et 3R v ¥ w9 f e o #1 % Yand e 3y g e 2
(1) 9 T H de & ford

() & H G T F o

(3) A9 W - § qun get Fi i st 9 <

(4) TN R fesme M & o

47. The book “Stripurushtulna’ was written by which one of the following reformer ?
(1) Veerasalingam Pantulu
(2) Tarabai Shinde
(3) E.V. Ramaswamy Naicker (Periyar)
(4) Pandita Ramabai

e o T 1 oA Freferta o & R g g 3 T o)

(1) e g
Q) e i
() Lt Tt AP (AER)
(@) ifean o
o What makes an object or substance a resource ?
1) Utlity or usability (2) Extraction
G) Discovery of object (4) Purification
5 el e veren el ) A R X2
1) zwifir steran weireeran (2) frmdor
) 7 % g (4) feEw
U g 41 N

- S



49. Reasons and Assertions :
Assertion (A) : .
Stereotypes prevent people from doing certain things that they are good at.
Reason (R) : i s . ;
Stereotypes stop us from recognizing unique qualities and skills in individuals and fit them into
one pattern.
Choose the correct option :
(1)  Both (A) and (R) are true and (R) is not the correct explanation of (A)
(2)  (A) is true but (R) is false
(3)  (A) is false but (R) is true
(4)  Both (A) and (R) are true and (R) is the correct explanation of (A)
TH 3R Iy -
AT (A)
Eeag uromd Al w1 3R w e § Aed § R S = ¥
T (R) : -
Teas uRod w4 saf ¥ s T mﬁmﬁ&@%@m%amaﬁmém%@ﬁﬁmﬁ
;]
W foew #1 =77 Fifm)
(1) (A) 3T (R) A=A ¥ 7en (R), (A) F e =ATEe T
) (A) 98 ' R (R) Tom ¥
(3)  (A) e ® 9 (R) TR ¥
(4)  (A) 3R (R) 3 W ¥ 7o (R), (A) T T =wwET 2
50. The true representative model of our Earth is :
(1)  Satellite image (2) Rugby ball (3) Globe (4) Map
BRI YAt w1 arafaes frers giwey € .
(1) Swedwfa (2) vt (@) & @) TS
51. The Child Marriage Restraint Act was passed in1929. According to this Act, what was the respective
minimum age approved for marriage, for men and women ?
(1) 18 years and 16 years (2) 21 years and 18 years
(3) 17 years and 15 years (4) 20 years and 18 years
1929 ¥ a1 faare fey sifufam wifta e wwﬂﬁmtwwamqﬁm%mmaﬂ
A Y A TR el e 2
(1) 18 99 qu116 a8 (2) 2199 qen 18 94
(3) 17 94 qen 15 99 (4) 2099 qexr 18
52. The diseases that spread from one person to another through water, food, air etc. are called as :
(1) Communicable diseases (2)  Acquired diseases
(3) Congenital diseases (4) Genetic diseases
A il < U Sfa @ gE st @ - v, e, g TR ¥ et }, 39
(1) waroita stefEr Fad §) (2) 3wifsfa smff = ¥
(3) S st wed ¥ (4) Tafyer sStfat s §)
N
P-IT (WIRIIWINNDI iz



. the statements that explain the Ganga-Brah
“=Prahm

100% aputy:
il putra Basin i
N T
[Id’dn
su|
beony
hent,

Coni fero

4 :
( The Basin
is dominated by Monsoofi tlimate

ate,

us forests grow in this region

lies in sub-tropical region,

(b
The area
n J ; :
t = The basin area has a varied topography

(d

hoose the correct option :
Chov*

@ @O0 G @

) (), (©) (d)
5 g H - Sfa =i ek g
inﬁrda‘ﬂﬂﬂm EERES . Hﬂmmmwmw . (4) (‘1)'“’14()
3 gguéﬂﬁW?Jﬁaﬁmg| o,
l ﬁwmﬁm%.

(b)
w%ﬁmw:m@%

©
! @ S @ B faf PR Hi T ¥
mﬁﬁﬁﬁwaﬁml

(1) (b), (c), () (2) (a), (b), (d) /(;(f @), @ @ (4)
. (a), (b, (©)

& ;I]Suijr-"iﬁ';ejvi?;tkﬂ?g:;:;;g(l:z;ina“% of thg World'. Select the conditions that help in producti

; () People do not use technology here. . 48
(b) People are very hardworking herg, =

(c) Scientific methods of cultivation are used here.

(d) Thereisa Jack of rainfall in this région.

Choose the correct option : o

‘ (1) (b) and (c) are correct ‘?.,-(2)? (a) and (d) are correct

(3) (c)and (d) are correct (4) (a) and (b) are correct

j sortt ) forva = TR S Fed € =g Wy A St T % S H w7 T
Fioe |

| () o i s o S

(b) 7@ el oEd aREE A e |

(©) Wﬁéﬂmﬁfﬂﬁmuﬁmmm%n
@) 39 ww H o e Qo

e fashed &1 59 ST |

f ) E : @@

(3) (c)&ﬂ'{(d)‘gg"l‘% (21)~'-‘F?l'{(t"')'{:ré,fg I~

P
[T
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55.

56.

)

Which of the following statements help in sustainable development with reference to Ppresent gy
Tesource availability ? |

(a) Reducing consumption of resources

¢
(b) Increasing resource use Es)
(€} Recycling resources -

(d)  Reusing things C

[ “J
Choose the correct options :

D EOo0 o oo) 6 a6 e

%ﬁﬂﬁ-wwaﬂmm#aﬁmm%m%mmmﬁm
FAR?

(@) HEHE % EyE ) e
(b)  HEE ¥ 3 gty
(c) HEH # E: www
(d) =g 1 g 3wm

D @O0 0 606 6 @eae 44)‘2 (@), (), (d)
LA |
iaaﬂ;::y network is now extensively being built in mountainous arai;aq Select the most suitable

) Mountains are highly eroded. O
(2) Mountain people are making railways.
)

There are advanced technological developments to enable it,

(4) Itis easy to construct railways in mountains,

Terdt &l H o et 1 o o g 8 mmmmmm|
(1) e wel-afE €

(2) wETE wm T e T ¥ r“
() sﬁﬁwm%mwu‘m‘rﬁmmmw%. f-.‘|'j"}
(4)  72TE ° Temnil & i e da d IQ
P-IT (WA 44 N



. Read the assertion (A) and reason (R) carefully :
Assertion (A) :
The Mahalwari settlement for revenue collection was introduced by Holt Mackenzie.

Reason (R) :

The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar.

Choose the correct option of the following :
(1) Both (A) and (R) are true but (R) does not explain (A)
() (A)is true but (R) is false
(3) (A) is false but (R) is true
(4) Both (A) and (R) are true and (R) explains (A)
AR (A) T HIT (R) N H Y T :
HRY (A) :
T T A eI St i YeeT wiee At A i o |
HA (R) :
T TR TN FEA o T8 e 1 foer i % guE # @ A f swdien #:i
Fretffiaa 3 & W@ forbe 4 -
(1) 2 (A) T (R) T, F (R), (A) FT A0 T FTd
2 (A) =& ? fFg (R) T
(3) (A) e ® fReg (R) WET
(4) i (A) TE (R) T & a1 (R), (A) F SEA B L |
5. Read the statements (A) and (B) carefully :
(A) : The Veda Samaj was established in Madras in 1864.
(B) : It was inspired by the Arya Samaj.
Choose the correct option

(I} Both (A) and (B) are false (2)  (A) is true but (B) is false
() (A) is false but (B) is true (4) Both (A) and (B) are true
F (A) Fen (B) FY oA A T -

(A) : ‘¥z Tore’ it wreen 1864 H 7R A E |
B) : 3= wore, s e @ 9fe A

et 4 4w fores T -
‘f} 7 (A) e (B) e ¥ () (A) 5@ ¥ g (B) e
O (&) mera # farmg ) 81 (4) 3 (A) T (B) W ¥

K Wi @ N
- |



59.

60.

61.
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Which of the following ideas was questioned by people from the seventh centyp,
onwards ?

(1) All human beings are equal at the time of birth.

(2)  One could break the cycle of rebirth through personal effort.
(3)  Social privileges are a result of one’s birth.

(4)  Only human beings pass through countless cycles of births.
Wmﬁ%mn%mﬂﬁmﬁwmﬁﬁ%wmwmﬁm?
(1) = =afe 5 % 599 gom 8 ¥

(2) mmam%aﬁﬁwwwm%i
(3) mﬁmﬁ@ﬁnﬁ:m%mammmqﬁnm%l

(4) meﬁ%%aﬁaaﬁﬁmﬁi

Which of following two gases make up the bulk of the Atmosphere ?

(1) Carbondioxide and Oxygen (2) Nitrogen and Oxygen
(3) Ozone and Helium

(4) Nitrogen and Hydrogen
Frefefen 3 ¥ arqes = SAferhier i o & A ¥

(1) = ewstTEEe ok s (2) EESH SR i
(3) s siR Aferem (4) TS 3R wEEew

Which of the following is/are features of a Project work ?

(@) They provide opportunity to the students to £0 beyond the textbook.

(b) !‘; project work should ideally be done at home so that there is more time for teaching in
class.

(c) A group project helps develop collaborative skills in students.
Choose the most appropriate answer :

(1)  (a) and (b) (2) (a) and () (3)  (b) and () (4)
ﬁnﬁ@aﬁﬁfﬁ—m/ammaﬁﬁﬁmﬁﬁmﬁ%ﬁ?

(a) 7 faenfofai 1 wreagwes ¥ oW 9 F1 da 2 1)

(b) Wmmmﬁmmaﬁmﬁﬁ[m%maﬂmmﬁﬁmﬂ
(c) Wﬁmmmﬁﬁmmﬁ%ﬁmﬂmw&
TR e o

(1) (a) 7 (b) (2) (a) 3 (o) @) (b) R (o) ) ¥ (a)

Only (a)
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t2 What is the advantage of fielq work as a method of social science ?

(1) Develops skills of Presenting, Proposing and arguing

(2) Helps to memorize facts

(3) Helps in testing knowledge of the students

(4) Provides students first hand knowledge

gt fae # 9Sft & w9 § &y 5 (hies ad) FFn ey §2
(1) ST T, TS FA AR T Y F v Ferfon w6 2
() @ H AR @ § e Fa E

(3) Torenfie & 9 e ¥ weg

(4) B N WA I Y& e B

63. W}lua;k:ls of the following is most appropriate for reducing curricular load of Social Science
sy ?

(@) Minimising the emphasis on memorizing facts and focus on comprehension.

(b)  Focusing on conceptual clarity.

() Skipping certain topics from the textbook based on exam directives and teacher’s lacks of
familiarity with the theme.

Choose the correct option :

(1) Only (a) and (b) (2)  Only (b) and (c)

(3) Only (a) and (c) 4) (), (b) and ()
WmmtwﬁmwﬁmmﬂﬁmmW%?
(@) W ¥ ww W =R W oA 991 FHE W HET FHE

®)  HrerTel ¥ wretwm # HEd FE

(c) witen el 3 smaw W si o & fawaaeg & mﬁw%mwwaswmﬁag

o
wﬁm?ﬂ'ﬂﬂﬂﬁﬁﬂ{l
) % (a) ot (b) (2) ¥ (b) 3R ()
%) %7 (a) o (o) @) (a), (b) 3 ()
T
LT 4

T
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64. Reasons and Assertions :

Assertion (A) :

Many cases of farmer’s suicides have been reported from villages in India.
Reason (R) :

Failure of Monsoons and inability to repay loans leads to distress among farmers.
Choose the correct option :

(1)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2)  (A) is true but (R) is false
(3)  (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
T 3R iy :

Afusme (A) :

W%Tﬁaﬁﬁﬁﬁmﬁi%aﬁmﬁmﬁﬁﬁéﬁqw%l
'd'*{R):

wmmaﬁﬁﬁ(m)wqﬁaﬁmfmﬁﬁgﬁwmw%i
Té fawea =1 5= Fifw

(1) (A) 3R (R) 3 = & W (R), (A) 3 T =men T ¥
@) (A) F& & = (R) Tom@ R

(3) (A) T ® 9 (R) WE B

@) (A) T (R) <1 T ¥ @ (R), (A) F W =T B

65.  Which of the following is not a characteristic of continuous comprehensive evaluation ?

(1) It focuses on all-round development of the child’s personality.
(2) Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
(3) It focuses on marks based evaluation of student’s work.
(4) It makes evaluation an integral part of the teaching-learning process.
Frefafea 4 4 $9-91 @ 3 = Yo #) ot T &2
(1) wﬁmﬁ%wﬁaa%vaﬁﬂmﬁmwﬁ?ﬁaél
(2) wzhmvﬂ%ﬂfmﬁﬂu#maaﬁ—ﬂfwwaﬁm%ﬁmwm
(3) 7 famndi & s smaifia w1 geiswa w e )
(4) 7% qeAiEA A fowgon- s wfwn w sifv st e &)

P-11 WM L
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67.

While evaluating social science the following questions will help to understand its

bgechves

(a) What skills are emphasised in the a,y]labub ?

(b) Is it derived from a standard text or com ination of texts ?

() How detailed is the outline of -ayilabus 2

(d) What level of competence is dernanded(crﬁleamer on each social science skill ?
Choose the correct option : Y :

) @and(d)  (2) () (B)and () «3) (a) (p)and(d) () (a)and(b)

et Faer 3 TR 3 < Freforfea v s stva wwe  HeE HO

(@) Wﬁﬁﬁﬁ?ﬁhmwﬁmvm%?“’

(b) e FoRell U W qreagEs § fon wn & w wE wegsshl 42

() TISTHA H Tw@I R faega 2

(d) sfermrral | T fawm & yois Sive o ey e s gemd i 32

w fawew 1 597 Fifww

O @D @ @O @ @O @ @3Rep
K&

Why do elections take place after a fixed tm}\I;lterval in democracy ?

(@) To ensure accountability of the goverrgﬁegt

(b) To ensure equal political participation @l\she parties

(c) To encourage political debate and publie-dialogue

(d) Itis a customary practice ()
Choose the correct options : o0
1) (), (c) and (d) (2) (a), (b) and (d)
) (@), (b), (c) and (d) (4) (a), (b) and (c)

A e fifieerd T SiaUel % T @ 9AE w6 e §2
(@) W %1 st gifem w0 F fog

©) el Fi o gerifes wrierd gifEa F0 % foe

() Torifer ar-faarg qen w9 HarE F1 WEIfEd A ¥ fag

@) 7% v e v & ‘113

W T S oo LO)

B ), () () (2) ( (a), (b) & ()

O @), by, () st () @ 4 @). @) sk )
] '

Wiy &

.
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69.

P11 IS

Assertion (A) :

Teaching of social studies is important at the'ghmentary stage.

Reason (R) : L)

It sensitises the child to social issues and develops in him/her a respect for difference and diversity.
Choose the correct option from the fUilowmg

(1) Both (A) and (R) are true but (R) does noj: bxplam (A)

(2)  (A) is true but (R) is false
(3) (A) is false but (R) is true
(4) Both (A) and (R) are true and (R) explamis (A)
afimeT (A) :

RS TR W A fam o e wewe §
& (R) :

T e Sl WIS A % i Saeeiter sHn & e e faer e fafas ¥ fo g o s
Tl

Foreifafea # &l famey = 7w 2 -

(1) (A) 30 (R) T & & 7 (R), (A)ﬁmrﬁﬂﬂﬁaﬂm%1
2) (A) 52 & R (R) e B s
(3) (A) oW ¥ T (R) TE ¥ -

(8)  (a) 3 (R) 35 & 7en (R), () 1 e o &

Which of the following is true about source:
(a) They are more concrete in nature
(b) They are all historical in nature
(c) They are objective

(d) They include accounts of eye witness and personal letters

Choose the correct option :

(1) (a) and (b) @ @ (and(©) (G) (a)()and(d) () (a) and (d)
e 8 8 B e R )

(a) A ek 2/ vl F 33 §

(b) A A Ofeerfos wfa 3 2y ¥ .

() AT i

() ol el % it i s o o e ¥

A A A1 9 g M)

W @b wmae (@) W ek

B @ air («1)
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1.

.

—_— Fundamental Rights which the marginalized groups can invoke, to insist that they be treated
with dignity and as equals, are :

(a) Right to Equality

) Cultural and Educational Rights

() Right against Exploitation

(d) Right to Liberty

Choose the correct answers :

(1) (b)and () (2)  (c) and (d) (3) (a) and (d) (4) (a)and (b)
4 Afer SR TRt 5 W wferg wE aw @ w8 afs e T o TR s e
waen T =g, 9 €

(a) T F AR

() TEpfas R Steafrg sfimr

() ¥ foeg afumn

(d) Tl F SAfER

W@ I H =99 FHifew |

1) () () @ (@ () (a) S (d) @ (a) 3 (b)

Identify the immediate measures which ensure women’s safety and enable them to take up jobs,
support family income and in becoming self-reliant.

(@)  Provision of child-care centres

(b)  Reservation of seats for women in parliament

() Provision of occupational safety

(d)  Pick and drop facility for night shifts

Choose the correct option :

M (a), (c) and (d) ) (@), (b) and (d)

@) (@) (), (c) and (d) 4) (a), (b) and ()

7 s 3 1 e T sl G 7o ¥ e e, et s 4 e ey
W saftt 7 4 g R

(@) TrerEfedi = wrauE

) e 1 wfeneti ¥ forg el &1 swEm

) e wen = g

R et (o) ¥ fore -3 ST F gR

i Py F1 979 FIfFu |

N (@), () o () @ (@) 0) 3R ()

(1) (a), (b), (c) 3 (d) (4) (a), (b) 3R (©)

T s N

.
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72 Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) : | '
The disciplines that make up the social science are history, geography, political science ang
economics,
Reason (R) :
There is interrelationship between the disciplines.
(1) Both (A) and (R) are true but (R) does not explains (A)
() (A) is true but (R) is false
() (A) is false but (R) is true
(4)  Both (A) and (R) are true and (R) explains (A)
=t W{A)Hmm(nmfawﬁamaﬂﬁwmwm;
e ()
mmﬂﬁmmﬁm%aﬁm» I, TSR form e svefeme |
FT (R) :
= T fadmli & siq.geig §
(1) (&) 3T (R) 2wt ¥ o (R), (A) %1 =2 = e &
(2)  (A) F& B 9T (R) o 7
(3)  (A) 7TeE & 9Tg (R) 74 2 A
(4)  (A) 3R (R) 2 5t & 72N (R), (A) 31 = e &
73. Fill in the blank with correct option.
An alert and vigilant public is necessary for developing a strong
(1) Democracy (2)  Oligarchy
(3) Autocracy (4) Monarchy
fraa T 1w fameq @ Wl
U 57 %1 fohrg w01 & g wad SIR \S S st &
(1) AkdA () T
(%) UkdA ) aiet
52 N
U LI T TI
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p. The distinctiveness of Adivasi societies is attributed to :
(a) prevalence of caste system
() practice of a range of tribal religions distinct from other prevalent religions
(¢) ~distinct language use
(d) presence of little hierarchy

Choose the correct option :

(1) (b), (c) and (d) (2) (a), (b) and (d)
@) (a) (b), (c) and (d) (4) (a), (b) and (c)
anfzardt gaTs  faferea &1 97 s #

(a) I SFEEAT & F=e &

) T v o § R, ey & Seedrg adl % e &
() fafere wen & s =iy

@ F=-= Ft Fh ufetE

Het IR H =9 HifAw)
(1) ), © 3R () ) (@), (b) R (d)
(3) (@), (), (© IR @) @) (a), (b) 3 (c)

75.  The Indian judiciary upholds the rule of law, without any fear or external influence, and maintains
effective control over the actions of the government because of :

(1) Independence of judiciary in India

(2) Judicial activism

(3) Democratic values enshrined in Indian Constitution
(4) Supremacy of judiciary in India

WRAR =rqiferent farr fepedt s 3191 e a1 % FHIT H G i & I & 99 TWER F F4 W
WM s wre Tt € gt oot €

(1) wra § =rraifers st @

@) o wfgar

() vrdra wfaym # wireifua diwdite god
@) v ¥ e #t wdEteE®

P J
I IIIIIIIIIIIIII!IIIIIII ” N
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) - i i class,
is possible that there might be students belonging tt? margmahSEdﬂfecfz ?;;ifnu‘;g (i::‘!l:iiig: Ssi OI?I(:i
when you are talking about the notion of marginalisation, which of the
you keep in mind before introducing the topic ?

(@)  Taking names of particular communities might cause discomfort to those belonging to thog,
communities.

76. It

(b)

Such issues need to be handled with sensitivity. S
() Some students might feel shame in talking about their experiences of discrimination.
(d)  Students should be forced to share their experiences.
Choose the most appropriate option :
D @ad© @ @), badE @
T HS o st e 3
@ fawg

(a)

(@), (b) and (d) (4) (a) and (b)

Mm%wﬁﬁ,mmmaﬁmmwﬁwméa
WW@mﬁﬂ%ﬁgﬁﬁﬁmaﬁ

©) T B I WY gy Yevm

@), (B) T ()  (3) (a), G) () 4 ()
77.

& assessment questions (A) and (B) related to the working of the state

government.

(A) : What is the purpose of a press conference ? How is it different from a Legislative Assembly
debate ?

to elected representatives wh ers of the ruling
party and who play the role of questioning govt. decisions ?
Choose the correct option :

(1)  (A) tests factual knowledge whereas (B) tests conceptual knowledge,
(2) Both (A) and (B) test conceptual knowledge.

(3) Both (A) and (B) test factual knowledge.
(4) (A) tests conceptual knowledge whereas (B) tests factual knowledge_
T IMEA 1 FEAYOTE ¥ afeq Frefafeg

srmqm(Amm(B)wﬁar{aﬁa
(A) : JEaTal 1 F R B2 %ﬁmmﬁ@imﬁmﬂmmm%?
(B) : A fraifaq wfafafuai & fou fag

wmﬂnﬁm%ﬁww%wﬁ@%awm%w
T I 39 & ?

(1) (A) d=aHqF JH F 19 FIAT € TaH (B) TheqTods 36 51
(2) =M (A) 991 (B) TheuATcHF IH Ft 9" F €|

(3) =i (A) 91 (B) 924 1 1 S Hd |

(4) (A) HFCIATHE FH HI W9 HLdl ¢ e (B) TLTHE T i |

54
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5 At which stage of school education as per NCF 2005, are social science topics independently
L introduced to students in textbooks ?

Choose the correct option of the following, "
(1) Upper Primary Stage @ Becon T
(3) Higher Secondary Stage (4) “Primary Stage

wH.TE. 2005 F W,Eﬁ?ﬁﬁm%ﬁmm{mmﬁmﬁ%ﬁwﬁaﬁwﬁmﬁmﬁ

faenfeli | wft=a s § 2

frefafad & @ V@ foew 1 =5 Fifw .

(1) == TufAF 'R (2) weEAHF T

(3) 3= "reAfaE wWR (4) wrafE =R

79. Which of the following classroom activities will help students critically look at the role of media in

society ?

(@) Asking students to have a classroom :'di}éicussion on the topic ‘can the govt. prevent certain
news from being aired on T.V ? Why might it do so ?’

(b)  Asking students to bring clippings from different newspapers on the same issue and make
comparisons regarding how they have reported it.

(c) Asking students to collect news itef:r_téﬁ'ley have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option : |

O @and@© @ Gand@ () @ Gand(© @) (@ and ®)

%ﬁﬁﬁ—@mwmﬁﬁmﬁmﬁmﬁmqﬁzﬁé@ﬁﬁ

T H40 ?

@) "0 TR e w1 A WA W A T 82 5 T @ e o for = 13z
q et sHeam

®) Wﬁ@mﬁﬁw—wm%mﬁmm R 7% faaww #t o 503
F FE |

(c) o1 | =reguy 3k mmﬁﬁmﬂwﬁmﬁﬁmmmmﬁ&iﬁw [ENT § ®Y
H T 1 |

T g 1 w7A &

N (a) o (c) (2) (b)) (@) (b) o () (@) 9 (b

iy ;
Sl LTI » N

T —



80.

81.

”
- . * a ‘roa_ch H
Which of the following statements are true about mquiry app

(@)
(b)

It encourages problem solving skills.

It helps find ways to gather and evaﬁ._iq_tf!'? evidence.
(©)  Teacher decides

(d)

the pace of leammg'; i,
Itis a quick way of learning, i

Choose the most appropriate option :
M) (), (¢) and (q) (2)

(@), () and (d) (3) (a) and (b) (4) (a) and (c)
ﬁ%ﬁaaﬁﬁaﬂq—ﬁmwﬁqum%ﬁafuﬁw%?
(a)

() Wmmwﬁaawamw%ﬁﬁﬂﬁmwwﬁﬁmmﬁl

Torferen aﬂm—;ﬁwﬁmﬁmw%l

m your
look at the isg

students in a class.
ue of poverty and

1)

Why can’t poor people work harder to improve their lives ?

(2)  When will India become developed and get’rid of poverty ?

(3) Why does

government give free goods to the poor »
lazy ?

Won't it make them
(4) Why is it that luxury cars and beggars can both be seen at traffic

signals ?
o & forenfelei & wrar 23 ¥ T X PR W fareneft & i
A FEHAN F G2 R AT g P ffd sk

T el ST S feafa G % fery, iR s e = o e o
(1) l_._--j
(2) mwﬁmﬁﬁmdﬁtﬂﬁﬁﬁ@gwi‘m | | |
THEl F G GHE F91 Sl € 2 9 AE 37 AT Te wm dm
(B) wHR T ) | | o
wa i & T faema =i mfwﬁ?ﬁa‘fﬁ?(?ﬁé‘rwfm?aw
(4) .

N
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8.

P.ll

In Indian secularism,

the state maintains a “Principled distance” with respect to religion. This
; 2
means tha

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.
(b) State and religion can interfere in each other's matters.

() State and religion cannot transgress each other’s boundaries.

() State can regulate religious affairs when need arises.

Choose the correct option :

(1) (b)and (d) (2) (a) and (d) 3) (c) and (d) (4) (a) and (b)
mﬁﬁﬁmﬁ,m,uﬁ%#ﬁﬁﬁm“ﬁzﬁmqﬁ”mm%mm%:
(a) fawR H fau T el F SR R T nfifer el # Tt w G §

b) T3 3T o TH T & el el W wwd ¥

(0 T AR uH T TEL B HSl w1 Sowed T8 1 T F

() SEEHA TS W I it we B Frfa o awa 2

@ fawey =1 =597 T .

1 )@ 2) (a) 3R (d) (3) (o) 3R (a) 4) (a) 3R (b)

Many workshops and factories located in industrial areas employ casual workers because :
(@) They can hire and fire them according to their convenience.

(b) They save on salaries and other job benefits which are paid to the permanent workers.
(¢) Casual workers work long hours without demanding overtime wages.

(d) Casual workers are more hard working as compared to permanent ones.

Choose the correct option : .
@ (), (¢) and (q) 2 (a), (b) and (d)

B @), ®), (¢) and (@) (4) () () and (c)

s G 3 oy o s e Sl ST A1 ) v o &, i
(a) aﬁm-ﬁf‘awmaﬂ'{ﬁﬂﬁmﬁl

(b) ammqﬁﬁaﬁaﬁéﬂaamm%ﬁﬁ%ﬁﬁawwmmﬁl
) T it foy ety i 7 U R T T o ¥

) vy it e syt A e SR € ¥

%8 o 1 s Ao
(1) ), (¢) #r (g) (2) (), (b) 3 ()
D @) (o), () o @) (1) (@), (b) $h (0

LT, i N




Y

84. For teaching which of the following topics, a tree chart would be best suited ? .
(1) Toillustrate the hierarchy of historical events in a particular era, such as wars, revolutions or
social movements
(2)  To teach modern history
(3)  Distribution of demographic variables such as age, gender, race etc
(4)  To give summary of reign of a ruler
ﬁﬂi‘aﬁaﬁﬁ@rmmﬁﬁﬁw%mé—mﬁ AT Iugem wm 2
(1) meﬁmme’ﬁéﬂg@ Shifcral e wfeh STl % TSEE # afyy
feam ¥ form
(2) 3 sfrer wor % forn
(3) g, = T Tt SR SrwiferR =’ % famon 3 forn
(4)  TEF F T o Y fera
85. The statement, ‘The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamenta] Rights’ infers that :
(a) it protects minorities against possible cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.
(c) it safeguards minority interests.
(d) it guarantees economic Opportunities to minorities,
Choose the correct option :
(1) (), (c) and (d) (2) (@), (b) and (q)
(3)  (a), (b), () and () () (@), () and (0
FYF, YR Hfaum aiffes siv wmredh Wﬁmwwmmﬁmw@mg',%
A T ® T
(a) UE FAgHESABI TR WA WiEahidh T F Tmey SCTHEH! Y TN e ¥
(b) WWWMWE%W'&WH&WW%I
(c) e steieTH % fedi 1 qean w21
(d) Ie AcTEEAS| Fl AfhF FaHA i TR J&H A7)
W fashey &1 997 FifeT |
M ®)© @ @ ) O
(3) (a), (b), (c) 3 () @) (a), (b) A (c)
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g6. Assertion and Reason :
Assertion (A) :

gf&gﬁd exams shift the focus away from rote learning to a more involved engagement with the

Reason (R) :

-book !
(b)ep;ﬁ?ehgro‘d.exams reduce the burden of students as they don’t need to prepare for the exam

Choose the correct option :

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A) '
(2) Only (A) is true

(3) Only (R) is true

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
FfuFeR R FR

AR (A) :
el e T8 WH Hied § g forarel % Wiy Geiy @it $37 T HEd el ¢ |
&I (R) :

Goil T Ten fornfof=i @ wR &0 et § Hife 399 3% q0en $1 0ORl 9 9 TE S g |
R faFey F1 =57 Fifaw | |
(1) =i (A) T (R) &l € 91 (R), (A) Ft T AN Tl Hel |

Q) e (A) TR

(3) % (R) W T

(4) 2 (A) 3 (R) & ¥ 9o (R) W& RS F & (A) F |

y 87. Which of the following statements is irrelevant representation of diagnostic evaluation ?
1) They are conducted during the instructional process. |
@) They help to identify learning difficulties.
®) They are usually followed by remedial classes.

:L%Tﬁl;:}’ flre used for comparing the learning achievements of all the students in class
A A P Fo Yaife et 1 SR fam 2 .
1) vo1 erer fregor Wl 3 < foran < 1

(@) % Wra & sy areft et 7 veaH § wew A ¥

) 7% 9. 3vemtt wamaii ¥ ame fren e 214

(4
) me%mﬂﬁmﬁﬁmmmﬁuﬁaﬁwwﬁﬁmmh
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"nsolation” ?
88. Which is the best method to teach the concept of ‘Insola

(4) Case study
Demonstration 3)

Surve
(1) Brain-storming (2) G

¥q =l
1) foER-H @ W (3) A @

; i ijence classroom
89. Which of the following resources/strategies can make a social scie
inclusive ?
(1) Teaching only dominant views of society.
(2) Avoiding examples from immediate environment.

(3) Encouraging only answers from textbooks.

(4) Display of stories and photos of people from various communities and regions.
freifeted 8 @ S-G9 QYRR T G R w1 e ) GEEe S Jehdl © 2
(1) Faa 99 % 3yd fa=ri &1 fagm

(2) STEUE F IS T

(3) O TSIYEHI ¥ SW A F ¥ Wiedres &I |

(4) fofy= g iR &5 F <l &1 werfEr i =R 1 9oy S|

90. Identify a skill-based objective of teaching social sciences from the following options

(1)  To develop an ability to draw a map
(2) To develop a respect for difference and diversity

(3) To acquire knowledge of continents
(4)  To understand the cultures of people living in different societies
71 & 8, A fomm vem % @ snefa q2vd #t veam W
(1) 7N T F aqwar faebfad w
() @m A fafaym % fau s fesfaa s
(3)  werEHTdl %1 7 ra e
(4) Wm#mmﬁmvsﬁmﬁfﬁm
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Can’(_:__ilildates should attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH as LANGUAGE-I only.

Read the given pas&_;gi and answer the questions that follow. (91-99)

1.

91,

Y.

93.

9.

We were walléng-"across the garden when my daughter spotted a cluster of familiar red flowers.
She pulled me to one side and then, looking excitedly at me as though she had a secret to share, she

ulled me down to her height and whispered in my ears. I shot up straight almost as soon as she
had finished her sentence. With my mouth ajar, I was about to tell her that it was probably not a
good idea to do so when I was transported to the time when I was around her age.

It had been a rather long day from school and I was dead tired. I was walking along the pathway
that was lined with many ixora plants when my friend grabbed me by the arm. Before I could do
anything, he gleefully plucked a single flower from the cluster and showed it to me. Unimpressed,
I was not about to be swayed by a puny flower and was about to admonish him when he turned
the flower upside down to show me a tiny almost invisible thread-like thing that protruded out

from its stalk.
He pulled the iad‘n't yellowish thread and right at the end of it, a tiny drop of nectar appeared. At
least, that waswhat I think it was, as it was really quite sweet. That day we raided the ixora
plants. We reallyhad a lot of fun. I could still taste the sweetness till today. My daughter’s urgent
tug brought me back to reality. I turned to my daughter and decided that she too needed to know
the joy of ms@gi-éyveet nectar from beautiful blooms.

, ()

to be transpogte‘f_igim time’ means .

(1) totake f‘qu'p decisions (2) travel backwards

(3)  toindulge in time travel (4)  recollect memories of the past

Identify the parts of speech of the underlined words.
I was transported to the time when I was around her age.
(1) noun, adverb (2) noun, verb

(3)  adjective, preposition (4) noun, preposition

Twas about t6_admonish him .....

-
The underhne&-ﬂfbrd can be replaced by the word -
(1) cajole l (2) appreciate (3) reprimand (4) refuse

15

From the giver;i j '}:ecdote, one can assume that the 2 characters shared the relationship of :
(1) grandm(zitfi,é[ and grand-child  (2) best friends
(3) mother e!nd daughter (4) school-mates

P NRNINIR 61 '
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95.  Read the following sentences : '
(@)  The writer if traumatised by the memorie_ﬁf‘_‘_lfif‘;l}er Chﬂdi;ot?ld- A—
(b)  The daughter’s secret brings back nostalgic-temories of the sc : ¥ ﬁre
(€)  The writer wants her child to be connecte&jjgg_‘hthe sweet pleasures of nature.
(1) (b) and (c) are correct, (a) is incorrect ot &
(2) (a) and (c) are correct, (b) is incorrect
(3)  (b) and (c) are incorrect, (a) is correct
(4)  (a) and (b) are correct, (c) is incorrect
96. In para 1, according to the mother it was not a good idea to :
(1) walk along the pathway alone L
(2)  taste sweet nectar from flowers
(3) raid the ixora plants
(4)  walk in the garden the whole day long
97

Read the following sentences

Assertion (A) :

The child was excited to share a secret with her mother.
Reason (R) :

The mother was in disbelief and went down memory lane,
(I) Both (A) and (R) are true and (R) is the correct explanatj f
(2)  (A) is correct, but (R) is incorrect bt planation of (4)
(3) Both (A) and (R) are correct f,, i
(4) Both (A) and (R) are true, but (R) is not ﬂié,%prrect explanation of (A)
98. Complete the word analogy : i,,e s
cluster : bunch : : puny: 7 W

(1)  long-stalked (2) delicate (3™

(4)  prickly

99. “To be dead tired’ does not mean - Y

(1) to feel refreshed () to fedl too fired to wal

(3) to be exhausted @) tobe completely "l
Read the given extract and answer the questions that follgyy, (100-105)
My tea is nearly ready and the sun has left the sky;
Its time to take the window to see Leerie going by;
For every night at tea time and before you take your seat,

With lantern and with ladder he comes posting up the street.

Now Tom would be a driver and Maria may go to the sea;
And my papa’s a banker and as rich as he can be;

But I, when I'm stronger and choose what I'm to do,s--'mx;

O Leerie, I'll go around at night and light the lamps }m&i you
For we are very lucky, with a lamp before the door: g
And Leerie stops to light it as he lights so many more;-/ .
And O ! Before you hurry by with ladder and with light,

O Leerie, see a little child and nod to him tonight |

i :'Lé":"Z:

ify the thyme scheme in lines 5 - 8, b
100. [dentify S -.
(1) aaba (2) abba 3) ;- Biabb M) abab

I 62
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101.

102.

103.

104.

105.

107.

P-11

106.

The phrase, ‘the sun has left the sky” indicates that -

(1) itis evening time (2) itismorning  (3) itisforenoon (4) it is afternoon

Why does the poet consider himself to be fortunate ?

(1) Heis strong and doesn’t have to make a choice in life.
(2) He has a rich banker father.

(3) He doesn't have to light other peoples” doors.

(4) He has light at night by his door.

Read the following sentences :

(a) The poet occasionally has a light outside his door.

(b) The poet wants to be a banker like his father when he grows up.
(c) The poet is fascinated by the lamp lighter’s profession.

(1) (a) and (b) are correct, (c) is incorrect

(2) (a) and (c) are correct, (b) is incorrect

(3) (b) and (c) are correct, (a) is incorrect

(4) (a) and (b) are incorrect, () is correct

The poet looks at the lamp-lighter’s profession with -
(1) confusion (2) wonder (3) jealousy (4) curiosity

With reference to the poem, complete the word analogy :
Leerie : lamplighter : : father: ?

(1) banker (2) rich businessman
(3) driver (4) sailor

“ tEther at tlhe secondary stage gives a text/ short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher
attempt to develop in the learners ?

(1)  Higher order language skills (2) Critical literacy skills
(3) Critical pedagogy (4) Critical language development

What is ‘interlingual identification’ ?

(1)  Learners understanding that learning of different languages warrants different abilities.

(2)  Learner's judgment that something in the native language and something in the target
lﬂnguage are similar.

(3)  Learner's judgment that something in the native language and something in the target
language are dissimilar.

(4) Learner's judgment that the knowledge of the native language interferes in the learmimg of
second language.

T = '



108.

109.

110.

111.

112,

113.

A language teacher tells a story in English and asks learners to work in group to tell the story.in thg
languages known to them and then in the common language of the classroom. What is this
pedagogical strategy known as ?

(1) Language acquisition (2) Translanguaging
(3) Multilingual policy (4) Multilanguage teaching

A teacher of Class VII conducts a pair work activity in which the pairs are given a story of ten
sentences. One in the pair reads out the first sentences and the other in the pair writes that
sentence. Then other in the pair read out second sentence and the first in the pair writes the
second sentence. Likewise the pairs complete the whole story. Later they compare their writing
with the original text given to them. What is this activity known as ?

(1) Mutual Dictation (2) Mutual Writing
(3) Mutual Listening (4) Sentence Dictation

A learner reads through the news item in the newspaper to know specific information. This
reading is known as

(1)  Study skill (2) Critical reading (3) Skimming (4) Scanning

Procedural knowledge in the teaching-learning grammar is
(1) knowing the language and its culture.
(2) knowing how to do the grammatical item.
(3) knowledge about the grammatical item.
) knowing the rules of the grammatical item.

Shreya is a Class VI learner who moves from the Jalander in Punjab s .
her father has been transferred. She knows Punj 425 19, Maduirai in Tamil Nadu as

abi as her m .
she studies as her second language in school. She other tongue and English language

is able to speak and read Tamil learni
neighbourhood. Which one of the followi : mil learning from her
o ngs A owing statements is true based on the languages she now

1) Her English comes under lan isiti oy .
(1) learm'ng, guage acquisition and Pun]ab1 and Tamil come under language

2)  Her Punjabi and Tamil co der 1 isiti :
(2) learning? me under language acquisition and English comes under language

3) Her Tamil comes under language acquisiti i oL
( Nt guage acquisition and English and Punjabi come under language

(4)  All the three languages, Punjabi, Tamil and English under language leaming

Malayalam spoken by a particular community in Kozhikodi is sli iff

| _ diis sllghtly different fp s Malavs
spoken by others in the same place. What is the Malayalam spoken by the ,.“.;;ljn :m I\\ldld'\ alqm
e 2 . particular community

(1) They are two different languages (2)  Two varieties of Malay

(@) Social dialect of Malay

alam
n ]'(l-.}!ifh‘]rll dialect ol Mﬂl“y“h"n
(%) ’ alam
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114. Which one of the following is true of the three language formula ?

115.

116.

117.

119.

120,

P-1y

118.

(1) Mother tongue,/ home language/English as the first language.

(2) Mother tongue,/home language/ regional language as the first language.
(3) English/ Hindi/home language/local language as the first language.

(4) Mother tongue/home language/Hindi as the first language.

Following learning task was given to learners in different groups. Find out what is this vocabulary

learning activity known as.
Find words and phrases which relate to the following words.

Relationship

(1) Word Web (2) Thematic Vocabulary
(3) Word clusters (4) Cluster Vocabulary

A method of teaching in which a teacher and four students form a collaborative learning group
with different roles. Dialogues occur on the content of the text passage, which creates a zone of
proximal development in which reading comprehension improves. This method is referred to as :

(1) Model Reading (2) Grammar Translation Method
(3) Reciprocal Teaching (4) Structural Approach

The language we use for day-to-day, face-to-face interaction is known as :
(1) Interpersonal language proficiency

(2)  Cognitive Academic Language Proficiency (CALP)

(3)  Basic Interpersonal Communication Skills (BICS)

(4)  Communicative language skills

Remedial teaching is for :
1
E?_) :eamers and teachers to enhance the scores in the examination in language paper.
(3; tZeu'ners who need attention on certain aspects of language learning.
. achers who need to modify their teaching for certain student to learn the language.
learners and teachers to understand and modify/improve their teaching/learning strategies.

Which .of the following is NOT true of Sign Language ?
(1) Sign language has a grammar. .

(2) ngn language has many varieties.

(3) ngn language is a natural language.

(4)  Sign language does not have a grammar.

ich of the following is NOT the purpose of extensive reading ?

1 adi
:3] Eﬂ:dfng for pleasure (2) Reading for appreciation
) ading for extrapolation (4)  Reading for learning grammar
TR 65 5
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PART -V
LANGUAGE - Il : ENGLISH

-150), if the
IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-1 ) y
have opted for ENGLISH as LANGUAGE-II only.

Read the given

Passage and answer the questions that f;llow, (121-128)
1. The loss

in earnings that farmers see due to extreme weather events or erratic seasonality is, by
now, accepted as the most widely

felt economic impatt of climate change. Farmers were the first
people to feel the impacts of climate change, which ultimately affects the country S overall
agricultural output and adds to food inflation. High food prices, in turn, could result in people
slashing down consumption, whi

ch adversely impacts nutritional security. -

2. A significant number of farming households produce food for their own copsumphon._ These
households have given birth to an old saying : those:who eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging constant, such
households have used the home production system to remain out of this crisis. As studies point
out, these households are also protected from market fluctuations, thus ensuring that they can
afford healthy food. Obviously, they are not impacted by food inflation either.

3. But there are serious conversations taking place over how climate change-induced extreme weather
events would impact such households We need to understand the link between nutrition intake
and household food production, and whether weather fluctuations would have any impact on
this. Researchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that pe6'p1€_‘hrowi.11g their own food consume more, thus
adding to nutrition levels and attaining overall food: security. There was also reduction in child
stunting and underweight conditions as well as “women achieving a normal body mass index.
These trends are more pronounced in remote villages.

121. Identify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption.
) adverb, pronoun (2) noum-adjective -
(3) noun, pronoun 4).. adjective, pronoun
122. As mentioned in para 1, what is the series of events that are triggered by climate change ?
(@/hﬁt;:e in prices of food items .
(b) detrimental effect on nutritional security
() extreme weather conditions
(d) reduced food consumption
1) (9 —@— (@) 2) ()= () - (- ()
B ©-®)—@- (@ @) @=Ad) > © > (b)
123. Read =

following sentences : -

( A significant number of Indian househol.ds: afford healthy foqd_
(b) Household food production has limited impact on food inflation.
(c) Food insecurity is an occasional phenomenpzt g:n India.

(1)  (a) and (c) are incorrect, (b) is correct —

(2) (a) and (b) are incorrect, (c) is correct B
(3) (b) and (c) are incorrect, (a) is correct

(4) (a), (b) and (c) are all incorrect

N
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124.

125.

126.

127.

128.

Whicly statement is incorrect with regard to household food production ?
(1)»" Food consumption in such households was higher

( Women enjoyed normal body mass index

2)
(3) Increase in number of malnourished children
(4) Nutritional intake was better

Some/mm@olds have remained out of the crisis of food insecurity by adopting -
(1) ~climate change conditions

(2) protection from extreme weather conditions

(3) home production systems

(4) high food prices

By which word can the underlined word be replaced in the given sentence ?
‘These trends are more pronounced in remote areas.’

(1) important (2) noticeable (3) ignored (4) disregarded
Complete the given word analogy :

local : global : : erratic: _?

(1) consistent (2) disputable (3) dependable (4) Dbelievable

What is correct about the health status of farmers who take to household food production ?
(1) better nutritional intake

(2) stunted growth of children

(3) women with higher body mass index

(4) children are malnourished

Read the given extract and answer the questions that follow. (129-135)

L.

X

129,

.

Untouchable, a charming French comedy about two friends who have almost nothing in common,
has been a huge international success. But before the story became a cinematic sensation, how
exactly did a rich French aristocrat and an Algerian immigrant with a criminal past become good
friends ? Philip and Abdul first met in Paris in 1993 when Philip was looking for a nurse. He was
from a very wealthy family. At one time he had been a successful business man, living a life of
great luxury. Then he had a terrible paragliding accident and lost the use of his arms and legs.
Life in a wheelchair was lonely and boring. Philip was struggling to imagine the future, and he
needed practical help with his day-to-day life.
Philip interviewed more than 80 people for the job of a nurse. But none of them seemed right.
Then he met Abdul, who had quit a life of crime in Algeria and moved to France to look for work.

He was lively, intelligent and | quick-thinking, with a crazy sense of humour. Philip got on with

Abdul immediately, and he offered him the job. Tb%m‘%gi dn’t have much in common,.
Abdul loved pop music, but Philip prefeggcl_g_l_ggs_.i_cgl music. 1p Ioved modern art, bat Abdul
hated it Philip’s family was sure that he had made a bad chojce. They believed that Philip needed
Someone much more sensible. Meanwhile, Abdul Wasn'FpIamjng on staying in the job for long,
However, their working relationship quickly developed into a close friendship. Abdul gave Philip
the support he needed. More importantly, his energy and sense 6f humour brought fun and
®Xcitement back into Philip’s life. Abdul helped Philip make trips to other countries. Both of them
Now live in different countries, each with a wife and family. They keep in touch regularly. All that
really matters to their friendship, though, it is their shared love of laughter and adventure,

Which aspect of Abdul's personality is not true ?

1) He was quick-witted and supportiver,/

) He shared a close rapport with his employer.

(2
(3_) He preferred listening to classical music.
{4J He had a criminal past rec‘prd.

1
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130. What bound the tw

o very different men together for yearms ? i
(1) warm friendship (2)  love for music
(3) their immigration status (4)  their love for adventure sports
131. Complete the given word analogy :
Luxury : opulence : : sensation : ? 2 :
(1) callousness (2) feeling (3) suspicion @)  disaster
132,

Read the sentences given below :

(@)  “Untouchable’ is a French comedy movie.

()  The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
()  The movie was a huge success in France and Algeria.

(1) (a) and (c) are correct, (b) is incorrect

(2)  (b) and (c) are incorrect, (a) is correct

(3)  (a) and (b) are correct, (c) is incorrect

(4) (a). (b) and (c) are all incorrect

133. Why did Philip need a nurse ?
\~—~T) To help him with day-to-day practical things of life.
(2) To listen to classical music together.
(3)  To resolve Abdul’s immigration status.
(4) To wipe out Abdul’s criminal past.

134. Abdul migrated to France to -

_(1)—Tun away from the Algerian police
(2) listen to pop music
(3) search for employment
(4) work in the movie industry

135. Identify the parts of speech of the underlined words.

However, their working relationship quickly developed into a close friendship.
c(,l')/:rerb, adverb

(2) adjective, verb
(3) noun, adverb (4) adjective, adverb

136. What is ‘Translanguaging’ ?

(1) It refers to understanding how languages change over the period of time.
(2) Itis a pedagogical process of using more than one language as resources in a classroom.
(3) Itis language-in-education policy on how many languages are to be taught in a school.
@, It refers to moving from one language to another language while teaching-learning languages-
137. Declarative knowledge is
(1) knowledge about the grammatical item.

(2) knowing how to identify an error in a grammatical item. @ ‘Y\_Cl.-l-l\tQ
(3) _knowing how to do the grammatical item.

cnowing to pronounce word in a language. (‘})\ ‘)‘(’ ¢ Q 1{\}1\‘&_
B N
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g. A teacher of class VI brought items like spoon, plate, utensils, boxes and pan to her classroom to
teach vocabulary from there writing wts in kitchen. What are these objects
known as in language teaching 7 =
(1) Realia! (2) Cooking items
(3) Reallife tasks (4) Teaching materials e

13

139. Which of the following methods advocates oral drilling and ‘mastery of the formal properties of
Janguage’ as essential for language learning ?
(1) Communicative language teaching
(2) Grammar translation method
(3) Total Physical Response
M Audiolingualism

140. Here is a question. Read and find out which typology of question it belongs to.
Having read the story of the little girl, you feel moved by her suffering and courage to face the
trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120

words.
(1) Long answer questionL—"" (2) Extrapolative question
(3) Discursive question (4) Expressive questions

141, Which one of the following is true of the three language formula ?
(1)  All children begin their schooling in their state language and move on to add at least two
more languages by the time they complete their high school.
(2) Al children begin their schooling in the official language, Hindi and move on to add at least
two more languages by the time they complete their high school.
) All children begin their schooling in their mother tongue/home language and move on to
add at least two more languages by the time they complete their high school.
(4)  All children begin their schooling in the medium of English/home language and move on to
add at least two more languages by the time they complete their high school.

142. Which of the following is NOT true of National Education Policy 2020 on language education ?
1) Study of mother tongue/home language under three language formula.
(2) Study of Indian languages under three language formula.
()  Study of English as language under three language formula,
(4) Study of a classical language under three language formula.

1. Which one of the following statements is true of language learning ?
(1) Knowledge of the native/ first language has nothing to do in the learning of second language.
wledge of the native/first language supports in the learning of second language.
®)  First language learning and second language are completely distinct,
) Knowledge of the native/first language interferes in the learning of second language.

1y .
" Leamers in a class of Social Science try to capture the main ideas of the classroom lecture and
point of the lecture. What is this skill known as ? N .
) Listening skill ~(2) Writing skill [3)_Sognitive skill (4)  Study skill

Py
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145. Which of the following processes involved for learning to write well in a language ?
(1) Braining storming - jotting down points - writing the draft - making an outline - editing -
finalising.

(2)  Braining storming - jotting down points - writing the draft - editing - making an outline -

finalizing.

(3)  Braining storming - jotting down points - making an outline - writing the draft - editing -
finalising.

(4) .nm ming - making an outline - drafting - jotting down points - editing - finalizing,

146. This refers to the proficiency in academic language or language needed for various content areas,

(1)  Basic Interpersonal Communication Skills (BICS)
(2) Communicative language proficiency

—

\_/(’ﬂ Cognitive Academic Language Proficiency (CALP) —
(4) Inter-language proficiency

147. Elam is a student of class VIl is able to speak four languages, Kannada, Marathi, Hindi and English.

He uses all the four languages freely when he speaks to his parents at home and in school he uses

Hindi, Kannada and English as these are the language known to his friends and teachers. What is
this practice known as ? .

(1) Code-meshing (2) Code-moving
(3 Interlanguage (4) Translingual ability

148. Here is a situation where students were exposed to the opposite perspective of the subject under

consideration to allow them to further understand it. What does this process attempt to promote
among learners ?

(1)  Process based pedagogy (2) Critical Literacy
(3) Literacy development (4) Critical analysis

149. A teacher in class VIII read out a text of five sentences in English twice and asked her learners to
listen to the text carefully. Then she asked them to work in group of four to recreate text nearer to
the one read out, not exactly the same. What is this activity known as ?

(1)  Paragraph Dictation (2) Collective Dictation
(3) Listening task (4) Writing task

150. Learning Outcomes attempt to enable learner to :
(1) attain the competencies in measurable terms.
(2) attain minimum levels of learning of all skills.
(3) attain language components in measurable terms.

(4) attain the grammatical knowledge in measurable terms.
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